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B.A. Sem.-I
Dec.2016

BAOCM 101 : Sanskrit
(Ps-grSFd)

Hours [Max. Marks : 70]
r,tqL z la) +re*rL.t d.
el, ua{I t'tell r'tLg uL[{ctL l,is rl-u 3e 1eL uLH d.
-[{.tLrlr[ r'[6\eL ds re'lst'i u3+e st). 4

Translate any one verse from the following
(t) elftrqritilsns ilqrsFi;ffifuc t

stq{rf,rfEftrfir q Fr*+6s drftq-c tl

(r) il+q;-cilq gs'+ *rqsr{ SEi il+d I

'n{'u-aqqsrr} erqd gftre aiq tt

lesteatL *t,l 3"t[1,l1-u eas ui t.r.{I "L[d zeuql. 10
r{q4t

ttgto{ mtAet h-tLtrt{ cqgul '{r 
. q e"r't.

-{Irl{lsll duqqr dr,eL- u3ue rd. 4
Translate any one verse from the following
(1) {"ns sfrTdE.f,i q-q-i

qrirqqrgs Ert {.€i q t

smrftFi qrg q-{flTdi

c +arcrq{ gft ft{qft tt

(r) ssr{ ETrquriel fdr
gfrqMtfrqrqFrfud rr

Pn+ Tqrfr, cPdcrq sd
:risqdeirr tfudEtn tt

l{gr-{Ittr'ti zsuio d{rl ar+j uzrj sd"{s.[ ze[ql. l0
r{qqt

ru.rqsn{n[ qtsrf ]tqr? - Aur hr1 hgw.tL h+Ld r1rd.
.[{.u.t[{l rlu''{cr ts ,tlls-t'l u3+te rd. 4
Translate any one vere from the following
(1) ucfit&rtrkqq{ffids\t

q B Eqfq+ilef. e,ffirqa1 tt

(2) wnnunfurrs q-dQrrs+r: staaffi t

q Etqrar n t {f,drfq ilrdqr {rE{rrqr. gkqT. tl

I

2

.,)



4

B -{I{.u\iell rlu,{cr 61 [ErI 1st'iu cturl.

Write short note on any two of the following
(l) qt+i <r1 r

(2) t1.ru.<'I tlgzo,l uAdI gc)e-{u-{I ncrte
(3) rqizti q[0*u

(4) hga-{IR-{I rlell
,tuotLtagtellt {rrl%d{q.}{. d,rL{ rtodrri qclql.

ltPtclt

-{I:ltLr{r{l sluqeL 4 Rrl qnlu cr"tl.
'Write 

short note on any two of the fotlowing
(l) eu6i 1et lqLqt.,u+ (2) ,rcrotLtrrj rdrc
(3) hSroj utatAu-t (4) rrsroura-[l RLaeLotqtqr
A .{I{ uLlliat rurl.tl nrq'[ f{36{ e r{I 6-tr rtLq't.

(l) hgr.{I[i *tuLorLr.r-u s{r qchi qr{ d ?

(u) retL,r{ (or) r:q'ior\.[ (s) d]*tq{
(2) 

',t3rtt 
sir-ul h5?@.tL..r,l sIcL d ?

(.,r) qtdL,tL-{I (.r) tiatt (s) f."{
(3) rg?.'rla-ual ,tLcnrl ].u ulu d ?

(r,t) 't4 d (q) .Lqat trit (s) gr{or elq r}.
(4) hgeo-rL ,r,1 rrt+ rrr) {r ra+,tLr g t} ?

(r,t) Ut ("1) tr-r (r) g"n1
(5) t{51 uis+Ii }qL sat d ?

(,,t) qL,r (q) h.u (s) qr
(6) hgruu *tt1 1r.{I u.i qti BlJti,rLcr+l 5l-{I ?ar s1.{l dur,l

(rt) +q-{I (q) ,rL*L-ft (s) q.t.il
(7) tl5r-{Ititi 3ct }zei t ru{r.r d ?

(.r) ,r (q) s, (t) c
B -{I{u'tir{I "r{ .1 nL+ lal-tL {r*ti z+ror utui.

Write answer in brif any seven of the Following.
(1) Rgr-{Ih r+t r,tL{sLor{rll dqL.{i r,rLdl d ?

(2) 6€i"L,r.i.tl :ql eLr.r h!r.[[d d{} r,tlul"u,{ d ?

(3) tlaug.tL *tL<tL-DctLli tL't sqLrql.

(4) h3r.[tt-rl Rw g d ?

(5) hgluu t,i ]q} "{qut sqd %lut.
(6) ,rSllrtl hsLlt r,ri qa.t !.[ qrq d ?

(7) sct.pti lqL {er+[ So{l.r d,{ d ?

(8) Ecul i l.Lqr-[ qra-I slq sl{ url rrqL{ d ?

(9) l+gr-{Ih,tl r,tLqal crft+q rrt'e r.tmq[.
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BAO0C 101 : Sanskrit

Time : 3 Hours

a+tL (t) otqt z:tr:l ttou't t)'
(t) etr ra'{l'rreil ouE aL[{or r'tr i+t 3a 1eL ad{ t}'

B.A. Sem.-I
Dec.2016

(s) r"tlqte sr]. ("4 i ds)

r &Mqqfqfu:5gqrftqrt
Sltlaqqasg avlmft t

qdfrqr ZqWr a te qd{tsr

M( iqkE Tdrfr+d-sqr: ll

e qrfi qrd+dT: sftreq-fird ttc-s{r
*{reffi+dfa qffi t$l {rqqa{ I

vfu*d gire rffi q dt{qt+{uit

sPiqr+f,tfr cfuft lrMQrqtq tt

('t) nu+t u'ttt.i. ("Id ,1 ig)
r. srfu< gq i-sq rqs +ci I

r. :rgir u-grriotei d"qq t

("1) *siitr a"rl. ("t.i,1 dr)
$rqqr+r.{et-[ qku.t-tL

!1rSsL mict

Seat No. :

[Max. Marks : 70]

4
1

3

7

1

2 (s) r,tlqtt Ed. ("1.I t ds)
1. g:ei il\it qq{+{s{Fr:

qor +gar uft g'ui acal t

u[{r avr q tc{iq5 qrel

vreq"w uft gk' wr<1 tt

4



r. ETeitlqqfu{tr+r st{ft a-{qi
s,rd-tF.+ql grTrrlilqRrlr* 

I

d.r{r"r+ sd_q6_{ ilflsqN.
aiqM ffiqio_*t rr

(q) tn+o[ utzrd. (oL'i ,I ,it)
t. rsfodd q?fTtfu-€I$f Hdqiqr. Eerfudvofttwru-qogwli

("r) 1s-riu crql. ("1.1 i {s)

3

7

1

Itlt€,q{ t{+iot

tqq E{ri

(s) qrtlt eq). ("r.1 (i dr)
r . otn.[ rero{ra .,rr uruLlLr 4 1[iulr. qrlt-t a,u+cL ur uttultct g[A.u1

("t) d+L'ti at,le {1 / {ct tL1 / rudj {i{ i\ tjt 1,udl r"{ {d. ("1,1 ,l qi.r)
Turcft Tqrtq I (3rs{)

.......... fib tou$ t 1gwq1
fl iIe+r4 c t(fts)
w 6rfl | (3rq)

g-d Btdrad l({)
srqFjr qt+ twmq: I (3rq)

l=i kwr' t 1un;
qiFFm: *i........... I ({e

7

5
!

t
i
8

q

L.

("1) drsi dsI.

s
l. 3fl-srI

EI

1. kscr
r. qqP<

r qqfq:

s. ffi(:
r. lAt6

t sql
(QT$I:

6r{T:t.
{q1

J



ai.[q e{i. Gtl i "l)
(r) irrL,r.t lri"t
(e) uo\t{ .1a

(r) ufi.tlu lrirr

l44

5 (i) tcr lorel q?ie 3{ \rdl %c{t r1d.

(s) our-0 ]ed} -uarlhul roll d ?

r. ir ?.

3. ',rltrt

(x)' llanL,{"i-qr{eL' l[l{:

iqt

7

('r) eu .u. .uasl.{l €rd!{dl ir{i{I qr{I srtt ?

1. cJ1r{d{io{I r. rqtri,teil

3. hett{{[ 3. q%li,trll

(.r) qrtqgrui r'tqrq+ rIS uLoLri n retr.{ ?

1. 6€qi r. a{qq].l

S. qlcL+t1*,i e. qqrq.[Ir,l

(,t) q .qd)t ac-r.{l .1,u{,rLadl udI d{l {t qa(t 3ql edl ?

1 . qq.lil\i t. \rLqdl \u1

3. I,teq..ui 3. 1,t.{:Ul\i

(.r) r+tLqdl {i ee dqr q.tsqinl cltj cdl.

1. {cGt.1. ddl
3. elflf45r

3. 1,tt6

3. 31tul.



(tr) *3<clorri rrirtai slcL.!n "r:l ?

1. 61.{i. I
e. hqur e

1. p1".t{3,-L}t[

3. }l1teqd

(q) Tq qrd:i qdq!-tsrur 4.lt+ gtu d.t.j ou

ql'?.c.f,Itt

qqtq.{I

l. qs{Lq.dl.l{L{

3. d.ttl,ti

t9

(ii) -ti{-u xsl{r a3{ Grri e,,rl.

1) *rqqltqs\t.{l u+.+rqtL.L oud g .u.t uLgj d ?

1) {rrucrL sIeL ed ? Aj .u.r g egi ?

e) q+-rrs.l rl.[l .{lst riu d ?

y) 6eq.ti Otli rr.lau %ta[i lap] g s{ ?

\) uqr{.\i (e€0 r4q.(i!r }r i,rrir,ts 616l ?

!,) ttd.e{li 3lsr er'tor{I u} d ?

7



B.A. Sem.-I
Dec.2016

Sanskrit CC - 102

++1a uBett't Ulitstn ,4,1 
"{Lsrcr

Time : 3 Hours

{qtt (r) tltrL s la; +rurt,r d.
(r) elr rra.It vtetl cLrg aLl{at !,ii A.tt 3cr 1er aL[d r].

I orj*It-u rrdil-t'r Rrrd qliqq .,1tr{i.

i'tttqt

ftEtr'dr{ffqca te*r.,t .r{} lc.rist rr).

2 ?i+td {tzr.{I 6d.rRt r,r'l lasrr1-{l lo*1.1 u[ rd.
14qqt

.{lol.u R\.l ,tl 1r{tr ct1.tl

(l) rfdaatt ttzd
(2) gns{ 1*rl}s,t

3 (a'r) -{lrl-tL [4* ur #r'itr e"ii. (r1t ,{B ds)

(1) 1t'i3'0 'rLn''Lt tL

(2) ttterj e{'tlLu
(q) ql.r lqser \riz s{ uudl sc,{r }d.

(l) 3{6 !r].qi.................. I (6ift, si}fu, $f'a)
(2) rtlr, qfa ....... | (c{qft, ceIIIfq, caqfo)

(3) .................TrrIT: rfrcr, st< t(F@H, Fsr1, Tqrs)
(4) 

'rdlrr, f1rqs............. 6tft I (tilpj, Tnlqr:, T rq)

(5) ri qlei a I (Fitft, 6'itffr, s{ifu)
(6) T{i TEi .......... I (qaqft, c{qrft, wqrq:)

(s) q* frfti-dni erwni Tsiqnrqr{ ar-{qrt von I

-[t{tt qr-r,.r]+i lrudl,,tl u1+re sd.

(1) srEt: gqi crrrPd t Q) qra-s,: qai +-tft t

(3) rrtqro' d{ceqffr r (4) 6{e: T6sTd stft r

Seat No. :

[Max. Marks : 70]

t4

14

04

06

04



a 5qn{qs1 + dlm adj tate[-t ru+I.

r{ECtt

uai.u rir ..us{}ri 6.R oud. (sl6qqr ata)

;E-S{iERI ii'{l 3rr{ d.

tarrrrffl-qq 11 -u.rqi tt.t ,ueu+l.

zora.t{ s.{L +.ilati rStt tfl-tl qR r{ d ?

.r{<rtlrt 
"-uz,srt u t1 rtLureL a{} { 1} d ?

!'ri.11 ltlrt r{L -tLarqi qtd. d ?

ftrq-Efls.t+r s)-[ th d ?

eig6.{tt 1ticr Srlt .tterqi r4t{ d ?

tiR.rtry .L{} r,.Lr s[E ]{llia d ?

u-"{-r-i rrigu,t ua r1{ uruj qi ?

rtrcrlfl-i tur -u\ ti dli ?

t4

075 (q) -{1.1-tL

(r)
(2)

(3)

(4)

(5)

(6)

(7)

(8)

(e)

(i0)

(ot) qi"q Rrar.tie s{,uc{l zc,u \d. 07

(l) Ifl,drifq<I ri scr .............. nJ[ r]. (12, 18,20)

(2) gtssfrs{* {lq& ........ r}. (.[nqeru, qdarl-tL, 6Ctll)

(3) rStt gaj u.t ..........6d. (non, ertrrr, ttt)
(4) ot+qtid .............u2s1.[ tq.u s{ d. (nrc, acr.,{iq)

(5) sqrtr usrer.l ............. su r). (q,<,tr, trc[, g{eqnr

(6) trq-qftfur .......... x6r+0 gti d. (-uzs, {zsr, urr+)

(7) (r+1 tq' ss'4, \rq I r{[ Rtlt.r .......... rR rD rr+In.t d. (otLn, r,tt{d, otcqla)

,[rl.u hu.r ur q:-rltr cr.t1.

(1) +tt-rt ce[-t

(2) tr{'trq GIqj qci'r



Time : 3 Hours

qet (r) otu r rai ++ou.L ti.
(r) rL n+-tl rrell et-q erd{ar ds ,iu gct 3er arf{ d.

1 (u) 516\qt rl3 ,eL-i uScre tr).
(:) erfqsrP{ qftqi g.grrh Er,li1

*t T{rgqa,q-d f,drdrli I

srdftqr ?qgm a ft E{f{sr

@ aqfug C'd"d+d-{sr, tt

(r) q<rflt q.e, c-fidrfun C{rq s(q,
rrft risri *Fa qrg ui qft<.a r

fs-sr qr {ri Er ciT{ft q+ffi
6, vrcnl re-wsft ui< arlrqwq: ll

(q) slu qeL ds qua nrieof +.r%1ql.

(!) r Pt oql-e, srrrft s€{qr qEqT t

G) er5i; c{g€s{i#i +fl r

(s) sluq'rt {r lstlrr <r1.
(r) q6{qr{ ltricr
(r) ,ldr{qr rricr

1 ({) cluqqt ds ,elsr'l ulcre td.
(r) 5{d Eri qqq.+{rFr:

qflr qmr qft EEi ffi qr
qrir dvr rrg i[1riB Erd.

clRqsqr qltd Sk' eslqt tt

( r ) rersfra: Et ilri-{ {t: {-6 drfti-d

?gqq-wr +'ql Eql rqr a q ltrm t

l+r+qft q Tan rsrsd-q cft €dr
ag q-gftir1aflI crqj Zqtsr F on'rq rr

(or) s'Luqq dr qt:q trrir,o{ rt'trql.
(r) c+tqrm slwrsslrFrdr t

(r) 3nd\", ed + drtrgdR T il{irii Trfl r

(r) rlu'{ct ds lale eul.
(t) ql\.{c{l {c[t uior
(r) Rpr'j vrz

B.A. Sem.-I
Dec.2016

BAO0E-101 : Sanskrit (EC)
(€q-Ersqcq)

Seat No

[Max. Marks : 70]

x

3

Y

3

I

I



,3 (uL) {tl ,{,n {r i4lryd,,rl.
(t) ou.r-{I luou?rt urtrR't llad
(r) tllnis ntuq[.

(ot) sln ti r,tAe hie{ q?ie 3{ r'tuqer q[+ 
"udl t",{L \d.

(t) *i{qftr( n, / {r&, / sld)
(i) :r6t fq{sr, ........... | (s,.iH / rrSE / 3rftr)

(?) qF.rq: REi ......,.... I (Tqfu / i-qfi i qqrfq)

(s) $I{ t" ............... | (3rk / u. / 3f{)
(\) ............ @ ffi r (<ror, / Er&, / ffi;)
(s) .......... crdT rrsfa I (Ilqq / nq[o[ / Iiq.)
(b) $-ar rrqs qrfi........... r (3rfu / s{eq i 3rt€)

(.\ ilP{ gr6rh r (3ri€ / $a / 3rfs)
rrlalu{.r-tru{Er {ertl qRrq ul{l <,tt{j .tta.rsn .t{i 1e.+i.r-r rd.

letqt
]rlA ,{or-q{.rEr -tLzsi uLlul qioptr{.q,lrj ,iLaLclUt rd.
(u) -{l.l.n lal{r ds qr5.{,ri zqrot r*t,ri.

(r) ott{-rt Qr{{q[ q1 r,{rtrlfta .uaslti -trr ('rI.
(-.) tr[: u{l uJ-rj -tLt cr.,tl.

(a) .rLt.re.u rlti aa,rquqdli n]'uq d.
(x) .rrff" 

Q'.r qlqqrql.
(q) 5(1s lr{et ${L {r{ .,ttd t} ?

(s) ":rffisl+" mr rin&+: frTiT: qt qler t).Ir qla d.
(e) o+:r-u gu uarrLi. qzlr3q:i \r.1 r,rla. d.

(q) t.,r [ir<"r q?ie r{ 'ue{l z"qL Sd.
(c) 'fib ffisi F*fc" qr qLrq ........... qid d.

(r) 6e,.L.r (l) "Lr+L.Lert (e) Rrq3
(r) nu{{a{r{rr ............ irj tte-r d.

(r) r (r)x (e),r
(e) l{q{qrlou.it-u {acl ur\1 rr.u .qri,\ ........... [h[\{ eteL ddi

(1) 6J (r)r{+1,1 (.s) 
'te,{Le*r(x) tq'! ............ I

(t) ftrstu (1) Ffr@-q (s) ffi
(,{) ,5t$S3r,qri.l ..........,,i3qi qrA. d.

(t) r (r) ; (e) t,
(q) +qqqrrceri. .ttar+ dlcfl ts,ti .......... uqL{ 6<<l't d.

(c) lAqrlin 'uqt (r) ,i"tut,{qr (e) r"Lg:tLou

(e) aliJl+u tl .......... j ?s1,ir n5! 3r]o d.
(r),rLqeL (l) gr,:i (e)4"{

I

3\

AO



B.A. Sem.-I
Dec. 2016

SanskritECl-101
iQrfirqiqtrq: (cqq: frdrs)

Time : 3 Hours [Max. Marks :70]
(t) nLtrL ry qa'r ri@.u,i d.
(r) sir la-{l rrell uug euli<r ,,ir .itL 3et "jet erL[{ d.

(E) -tlrlu,rir{I oL,ii ,i ,,ir "Lqt:ti 'a1rr. td. 4
(?) '3r6t ! fiiiTTrq tqr6{, Ect;rttrrfq-iFi+E 116r{ gu+++, ffia:,

qr"nqq, reqle 3ruffifu gEqrft" gtd

ftRq +sffisqEEq, E"nror&, +enq Teir tqrq, SqT{lli rff{t I

(r) snr "6q+ t tr i)ff, gB ! at qr(r {ft+ crcfrqrq,, gtfr, I *< m aa
qqqla t Wq fufuq fuq foq,, G n-r rflir: {t( s'{fuqfo r*q +ftqrq: qr
q ffi . qpm dqrqqq&qniqq:, qr q atqdfu< erIlit lffia orff ,,,1

("r) -tt i-utiefl .t.]. a ,,r: a{'_c[ a.uqt. 3
(t) srrg, vra< qqrk{qt t

(r) P+rqmn +rrte qm-s-qqi E{irnrqr{q-sq: I

("r) -{lol+ti'{l or.i i ir qr-tirr:r"t'r. 7
(l) Rtq.tz hqr{{,icrele'rr
(2) urarrt{. utEulti +t.t[atl

(r) -[.hr.Liet oPi ,\ ri: oLatrtt ,l1.rLe rri. 4
(t)'T+ P+og{"n{i rFtirFI {FEd-sEII-sFTFr-sFFr:

AiEd-iErtrq: EI|FT; iFlFT: t q \tE +-flftI qq:.

Ar-Xit-ar+g.ni-eraf+qcoitfatfoa-qrq-
rrgs - rTrr6 - Srqnr-q6e - qrqrqruqlii
q-+q-ffifa, qkrcnrrs E{ gj,reo-qortflT-

irs|rr - riffii TrRrfur q +r+ffift t

(i) sferw*qt fu Tdd - qEdk en"qr* - t-sg;-oerdtr
ffirffi crqqcEF-qEtrffi mfo-q{ 1

qrqrq+iqseitqt sP,{'r+sr - iqd gld nr+ I

("t) .it l.u,rirt :tq,i dr a+ieof rcnq'r. 3

(r) qr srrf-isa qffiFrrrwer +f{qI}{q I

(e) +ri qr qrrr+ti ?a qr qa-tqq 
t

(q) -t.l-rLrrirli rtt i:-is istitr a.,rl. 7
(l) ott?rt'{l &{crt:i ltcLlqn
(2) .teott ct.d.{i.0 8.tL

Seat No. :

{rr{t

l

2



43 (r,t) -{l{u.ri'{I "ti A d! A3-{tr a"[.
(l) ,i"[I{%{ otrQsq-t

(2) oJkr \a-{I xrfQr- xtior
(q) -{l.I uL,le }rai{r 3llL.tiell diq h3<.r qri€, s{ er{q qrt.

(l) u-€ g€+ I (qdrq:, qdrtq, qdrq:)

(r) q: qr6{qi.......... I (fhsft, ft{sf{, ftrsk)
| (Tqffr, q-qffr, {qfu)

(8) n{ - tttCj xqq 3t,.t dscq{j qloa 1 (afifu, {qld, {qfa)
(9) 3r{Ilq { }lq QotGtj c'rgttttj t"q tr+ (urq{, qqI, 3l-6)

(S) E -r.r+fli 3o €. (rt6 +<rr', 316 qqlfu, 3rd {qft l)

(r.) Ei rfi-dr .......... I (qdq:, q6ft, q6fu)

(L) 5ra-aft v-av r (Fi, wt, gsrl)
(s) E {-u,r:! xqu lqotlir qgqq{j tq (fr, {:, +)

(1o) otq e',,[]i tAd. (crt, ksrq:, ersr{ fusrE: qf fu@q
4 qR.r r,ilEaerr ..{r?r-u @.{-r ui ha.tL RrI .rq[ sd.

hqrzt{s,{.{I {idt l{ei -[{ er,rl. 
.'tqql

5 (+) -ll.i-u.ti tl qlc,r R:e,r qrie s{ "udl so.u {d.
(l) ..........6fi-{t t{$( {qPfr |

(a) q.i (b) Tff+t (c) ,ru

(2) olallu qLelst'[ e*12 ........... i 6qL{ d.
(a) r.{ (b) hxr (c) t .<

(3) lir.mzlqslt-u .iorqrqLqi ............-. .rirll ltq(tlln Aq.rq.[ qtqi d.
(a) '{Hgupt (b) ,t +{3u$ (c) ructcrtSaet

(4) qd.t 6qr {a :I€rqi ........... +r{[qri rJ &u.
(a) 1drlh (b) tt$tl (c) r,it4sl€d d{trt

(5) ............. -rL n.tq{ A}al qlc[t f4sular{'u {trrrtr'r tro] $.
(a) tt,t (b) qluar (c) 3t{Re

(6) ,ru1e,rti ........... eqd omd'l (z{.
(a) l0 (b) 12 (c) 14

(7) Rrq{%R%q-t'[ rfgc{ t{&r ........... d.
(a) 6u+ra (b) rcrsL..r (c).tLzs

(q) -[aI{ ualu ds oI .u:,M lrqLot qrd.
(1) tGtaarr .tn [l utetsruj .ttr $ t] ?

(Z') .tc1e u-t opa,tieft ulru-u hL.ti 1i 1i c-tu crt ?

(3) di % {d{ r,iGtsrert .ud :qL * *.0 rq{r s{ drfi ?

(4) d'ts.l 'ErB6Tlrirs'' +l [\,tLoL ].r r,ri e"rl ?

(5) .*eret-[ Or&j 6iBr 3'lLi i{ sli ?

(6) 3<rr.r our.t.l{.tl qet't,{q-r {c.ta sI$ edl ?

(7) otLl"Lto[-tl 1tttt3 dqr uai s,i qLaue urRA+ i,ti RdD'r edl ?

l0

(i) ci

t4

7

7



B.A. Sem.-I
Dec.2016

BAO0EC-102 : Sanskrit Elective paper
(ri+1.1 tL[oe.Ltl ulteru +t-I a{LsreL

Seat No. :

[Max. Marks : 70]

l4

Time : 3 Hours

q+.u (t) ,,tqL g uri StgltLr d.
( r ) ei-r la.[ r,rctl ,trg ar[{ar r,ir i.u 3er oj* art{ d .

I 'l!u<tL{-{It1' -tl rrurrL uL,[ t1i ,tsttL< r{} 1er'rrt rd.
l,t?tctl

gstltr etul. (cL{ i ol)

(l) z"tauq.u qs{.tt".t

(3) "li.t "tllCL
vtt nruft+ q-qqidP{ftrq+ I 4r hru{ lrrT.

r,tqq.I

6.tltr crul. ("r{ t 4)
(l) {dr.rd 1zy uFr6rnng<ee
(u) lrtlt e"lt. ("1{,i ds)

(l) rrr{GFii[ !F?n (2)

l4

(3) tq6Eq (+) ftrr*ftftqn

(2) ordeRu rLasi

4) ourlilioe.t(

2

3 4

l0(q) aloqq ur{e s{ "ue0 r.+r ,1d.

(1) .IIFI 31 3r.?r.rt !. Bdi+L R+tt-t

sT<qfi

(c) ord

(c) qr&

(c) vlvii

(c) c{qfi

(b) ![ea:
I

(b) T'sar

(c) $.d,

(c) T-dFa

(a) erdt O) cldq
(2) I{tdl sIT 5r1.rt dl. EdIu or. q..............

(a) qrdr: O) qrdr{
(3) q-6 +i

(a) cSqrfu (b) Rrrrtr:
(4) q{r{ qt 

".......... I

(a) calltfu (b) q{qrrr:

(5) ueq 5fu ............. r

(a):F{,
(6) g{ q-qlrt

(a) gs-d:

glEff,: i|-ti l!rl: I(7)

(a) RT{ (b) Tqrq (c) tqq



(s) * p1 ............. ,

(a) g'€ :

(9) s' *qqi ..,......... r

(a) otfu
(t0) e{ qr$qni

(a) Sd,
a 'tqndqqt,e"[-sj rrtaf.r rarql

(b) s'+ft (c) o-tfu

(b) 6-itft (c) 6tft

(b) s{tfq (c) S-dla

r{qqt
14

,75

ai.iltr a',it. (n{ A 4)
(l) ,t1l4:i t{ra
(2) t4t.trE tlL+j +e[.t

(3) fS{{ r4rntq.i q{d- rcuc
(u) do+ hs6{ rr{a iA ,,ttd} zo.0 lI?}.

('t)

(q) -{l.l-u

(l)
(2',)

(3)

(4)

(s)

(6)

(7\

(3) otfuRd ardriri nrs.r uriar uJt gd-r[i'LL rO d.
(a) .0ldtt.tg (b) qorLuLas

(4) aLe[+rLti-tha$I ti3 r{,,.u ......-... d.
(a) rux (b) \i..

(5) ri"t.t.[qf{t 'ei"L .......... rLar{i.4{ d.
(a) t ctlsafi{qat (b) lci${detlql

(1) '-ltLariotqr1Hl lqr.t r+L d
(a) ricul (b) {h

(2) 'ltredl1ttr.r'ar i,isj .......... d.
(a) arLdcL G) ..to,LL

(6) 3r€&t{ i[a-tl ?q{ d.
(a) 6uqr (b) IEg
s{-{I ............3tiri aeud,+rc nr,iot uL{ d.
(a) +-ucd (b) lCqr,fifsr

qst'[.u etni sqt6t r,uql.

ed.td-u-u "1tti uLd\ rUt w t3r{ d ?

D,rfiirtti li-{l xer4Jr{Lj .{s[i atr{ d ?

gu{.11 - 13.r161:i [\e.t srri su'r d ?

r[da+ shi sql uci$l hq d ?

a,tL{ r.t|, otlqr.i ]rdoL rtsu{? sql €rrl ?

'1+rsDr'-{I .uAa rI+ t} ?

rL,tictL ueat.tr{I fa $ rl t} ?

(c) siqt

(c) 1i3?st

(c) Eli{{r.d3

(c) +ttcr

(c) Ut[ ett.trt6.(ct+1

(c) i0

(c).t[!1.[ie

7
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B.A. Sem.-I
Dec. 2016

Elective-2 : Sanskrit
[Max. Marks : 70]

U,r.tt (q) r'tttt z ur slslra d.
(r) el, {a-{l *tell orLg aL[{etL ir ttL 3a 1et aLi{ d.

A -{I{tr{rll g1uqeL .fun1 ug.ue tr}, 4

(t) 3r6+sET EE{"n'n T{dceq1 I qot Cst qtq {ird: Ser6rT: {-{dt qt
r $: crirn: f<goufo-grrfmq, a-fr@a*-apqs,aar6
ftq qr,+iiE src-sft I h;;e-drfl{-Ae q{pfr{ FEdqT I

(r) a{fu qatr4s} qqs-{fr qrqRuqr* | ilsi ffirqedr d-{ TEr+} pr+sil, 
t

*r u 5rr: *aar ur'{IElgg!-er$ffi{qrTrffifud. I it EEqr {rTrdfoaqd
sTr' 6'{+ilrqrq {dfoi qemrfu ? ro-q fuani rrcgfircqrft f

s -{l{tL,ur{l rlu r,Ig rrieo{ +r%1q1. 3

(l) ad qrr: F*"qt l*cr t

(r) ES+{ {ri F{d ffft qrft < +ntE r

s-fr s-6ft qET, rfta, gqqfr 51q 11

c 4{.urtiril rlu ds lr.rltr <u1. 7

(l) elol 3+Lr+1.{I sru
(r) ereL u.l RLqrq.[ rqL

e -{Ial.tLrtir{l clrl''.r'{ {t "Lets-tl 1crlldl.rl u1<re rd. 4

(r) erk rffi +1md qrq q.rt t rsi qq+qrs{rqr qFFr r.6l1ri
Pc-s{ft t +{ cls+ Ecfu qiin+{ srqrfufud +drT qrqqidtm!+
qrq sft,rsg-* qff!ftdr I d q qodrdftlqq i-cq-+q ffi qqq 

r

e v gqcft{ilsr ddsrq rn qsq t

(r) 3rk d-fld s({ftra-+i irc 6ffi I rrrc}w sil Elndrl$Rqffr €r
ro{ +gqda fuqA aqrwr6}dA}+ qrqaEsqv +€qr fu qftqPd

a+dr feqfnfu qftiln{ qqr EkcqrqrE€q rr{'i srqfude{ r

s -{Irl+L{sII rlu dr itr{eo{ *.tm.i. 3

(1) nftIq1 qfti-frr

(r) ir+reftrs g€ trrffflqrcgq{

Seat No. :

Time : 3 Hours



c -il{-u,riP{I slu {r ptTrr oul.
(r) riata+r qLRr.rL-[ qral

(r) rri{iat erdl-tl <L.t[

-[hi-u,tir{I slu'{qL r,i lrriu :ruI.
(r) trtsrotltr-ft cL.r[

(r) +i.rqltle Rtqtq-{l reu

(e) ,iq.ta-u sal-ri ,rRqq

(x) t}.tl,rlu - lqaerc{:i si.tcte{I te,<q

utcllsqtul'i 6qort u.i hrt+.{I q4[ s{.
rtetqt

[0aiultLj h,u+lg +'i *qu-{l +.r[ rr).
(A) .{lrhr uali.L Z.uot r,rL,{|.

(q) .tli ]eeL rELr.[ 0 ? 5r, srl ?

(t) t}-alqltt-{I tq-r[ 31cr X1,r sqr cie{tl r4LqLt clqr{ qarl t} ?

(e) +r.sl .ur 3lu$dl q rj uL,+.uj si tl ?

(x) l"t'i %1,{ qtjl Rt.ucLji }qI hqu r,LL.al ?

(,{) rql lq(L,i rrs{Ilaitr qraiui.i qrql r4ldrl ?

(e,) {.eten urti qrlQr{ 36 {ct{,ti rJri e.tl ?

(s) s.ldior tL'ttr o.rell'l du-i orqi tluurl-i lqi [dqt. qr.,t ?

6t qic4 Aje{ qrie r{ qrc{I z",rL .Id.
(t) lg.tl'11n............... .tl "i!r d.

(t) -{ItisrrL (r) qi,isqt (e) mass,{L (x) uLetlsr{L

(r) t!.r'tqLlttL r.r[.l tL ......... d.
(r) ol+r (r) ..ue.tlB (.:) -uu,rcr (v) nrar

(s) fqarefi { 't,t d ?

(r) qrt (i) ctLor (e) ic,[ (x) lq-t,{
(x) 0t{sei [\orsi r{ ;r.t lidl sd) ?

(r)"rl{qra (l) qiar,rctca (e) qz+rLtqdlca (y) dsru[ca
(q) tt.[rL ]zru,tr"[ r] ?

(r) A (r) qrr (.s) +t.r (x) uu
(q) 'ttetaiL t.3 \dl xrt g uL{ d ?

(t) q.i (r) ntt (a) r,t (v) 5e,,
(o) 4"a re 1j t) ?

(t) qr (r) at (e) REIL (x) {.t

'7

14

t44

75

,7
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B.A. Sem.-I
Dec.20l6

Core-CC-f01Gujarati
Time : 3 Hours [Max. Marks: 70]

q+tL (r) eLr latr 1ur rat.t r).
(r) qqL z rral tl,er,{Lc r}.
(s) sL ra.tl cr{sll otLg rrLl{er dr i.u ge lcL eerti d

I urt+r.tj nLRr,riqu ui earq .t'i RiLt \[lrrq rucl.
qe{qt

1rr+.{I +tL[derti r*t"qtr rttldc,-t +.tlt{ Qqotcr r,tl lqrta vclql.

' jtrtttUj ,urt,' i utwr-t ct{! 1o+I.
t {qr

'j"rr4ruj u{}\i r*rr,{r-tsLt {,uir.{I qrtRrr.tLrtl tqz \,{[aql rrcuqi.

slu'+et 'i 1s-tltr etul.

ltrtctt

l) '3c1qru:i rLrl+'ri Grlufit rurea"r-t

2) '3ci6uuj rt,I?'.ri 3{E i{L.ie.[ q'{.t,eu

3) 'iclqttJ{ ,tL'lt' ,ti ta [\3uv

4) 'iq?qtuj rtt.lt, \i +.LcsRj [\ r*t

(!r) slu,.rer a, rurd-{I dse{I gurd.

udlt{l, g-{lcdl6l, ,l{r{Lt, fsatr{I.0, q[Idlr, r{$,}a
(nt) SlUrrg '('{ ar6An \qfqcrill rt4, e{.

ug{, rr{or, ai, uzt, <rl&, rt{r
(s) tlultg ag ttd.tt Rjt}ud rt,e <1u1.

uts, alSs, "u{"R, a1a, gd"u,{I, df\a
(s) "tlorpLr ftc<t {qL nesA 4r, g,lursrr'r qrdl'{3dI sqd s,r }l{{+{i %".{r,{a

urs !d.

I4

t4

t43

4 3

3

3

5

Seat No. :



5

qq{i
{r<t r-ur.[t gsr.tll{i qiodl ch{ltr,ti r,i"i tBr<r rdrer.l a,eo rd,
qlcq hrc+,{ri€,3{ "1c{ %J.{L Ud.
l) iq?tuuj ru.l$'rti 3',+ ltltn ............. t) ?

(u) hqte (q) e"r (s) iflqa
2) i{iej lqr( qt!q[.r r]?

(u) eaulelx (ot) .t u"+.r (s) {Jl
3) tluie .t"Lrtl r,J"{u[l eal.

(.,r) qs'ter (ot) <,q+ (r) uraqre
4) irrie-tt ncltr ut-ut 1[i

(u) UrlutLergr

5) ur-r.t.rl urlr.t ....

(rt) rrr.t
6) i.uie ultd ........

(.,t) n fe.+

l4

7) 'Jqrqt6:i 'u'la\i
(r,t) rx

8) +rgnrtLi -qx L<L.i r{i
(q) dlta

9) uLun rj l{ou,r-r
(l*) csqr

(ot) tqru.u.t

.......... rll trLq t}.
(q),t"LcrLqr,tt

....... ql6rer gdt.

(ot) .rE{rtt

rsqi d ?

(ot) rr

(s) uauqRa

(r) +,13{i

(s) *ia

(s) lq

(31 [q.{[€.

(s) +t"[

(s) urg!

(s).{st

(3) {0

(s) 
"[ta

(s) 4o1q

(s) r,{

(s) c,r-r

riri uL{.
(or) e.t

ti rruq t).
(or) urrla (s) r,tr

l0) 'j+tt,uuj 'ttrlo' uLwLtrt[ 3',+ 1r t).
(q) crrr (ot) 4r (r) stet (s) {"rLr

11) T,{i Uttl Smldl rtlgcr.tl 6trur 1O ?u,r ai gt[ g ilel ............ rJI u&, d{
uLs{ lliur itu-ia dlttl €.t1.

(r,r) qtq$ (ot) ai,{I (s) 3"s2 (,s) , e,{[,
12) irLte.u 31j rL.t €9.

(.r) a.uarr (q) uuLuqet (s) u'rqrq (s) ltlq
13) i.uie-tI <tru,r U.tl

(u) {{u (ot) rqurr (t) RasL?. (s) 
"taLdl

14) utwtttt uld oucr{i

(u) rqtti (ot) rtr-t

,aL.l

(s) qet-r (s) 
"[,]+

r).



Seat No- :

B.A. Sem.-I
Dec.2016

Core - CC - 102 Gujarati
Time : 3 Hours [Max. Marks : 701

q+tL (r) eL :ra.u gv rtrL.t d
(r) ntru r ual $rsqLct d.
(.s) eL qa.[t mctl orLg arhaL ],is art ja 1er url{ d.

I icclrql ntl&q rqiq-ti easti.r't [Eort \Rq,{ :uq1. 14
qqqI

glrtc0 -t+etaett +ttE + ir3U-tl hsL+ ULelql.

2 .tqcuuri upuc[a oaei.i uu.t'ti u"[,.tdeL sa,I zrtr+O {qssqr a{} 1tc1. l4
qqqt

'.rd.q[ cr' {qosqL.l qrqri ,{ars.Le q)cr-[l iqatqutl d{.}.[ hrlcaturl eQtlql

slU,ru ol lrtltr eut1.

qq<rI

1) 'r<,leu st\i \-.uau.cr ,+)e.[ .{c[-rser

2) '.tuicrt @.t' 11et{ 3?rr

3) 'r4<u s{ -r'i a.t@

4) 'l4crr so<' rlNs{I ,{qL{dr

(.,t) rlu,{,{ acL s&qd erqQnql.

(c) rlui 6rii {lru.ri { ql. (x)
(r) qL] {l riat t q} (,{)

(s) :uuL p-rq. lldr,{rrqu (e)

(q) Eiuuct ast 1[du,r1"ttl utri r,rt{l qtrq.ti lqlcr rd.
(r) dtet t U .tt14qr (x)

(t) 4 uiei t$ ('{)
(s) dr.tL ol t ug (q)

3 14

4 3

3

qtsl .,rlL i \l
grLut*ti ulQr rRr
,{ra-{t quu +a liutr

qtsnr ,-Lt<uut dg grq.i

4\r3r Siqr

rr:1 rRg



(s) s'tu'{v ?tcr {r6arts ,rL} dc 1o€ er, .

(s) -t.[ urelctl dI (v) uq{I u"r.u. +I,le{I +E(r) t alri .t lLtttt (t{) ri}rt rrrr{ l.1i rqqr cflL{ dl(e) ar r{. sq.-ur (e) *.1 du +rt gr"t tL+z .te.{l i
(l) arL0 c{t"u {irri a,.tLu qtru,Lt .+.u'u.{l mer 3kd .ra e! .

i,tet4t

ruru ou.r.ti lcan, [\r_t1[i+ *q dqt.[ \urerLL .tlqLu ?o d
[*eaL utdoq ar[Qsr0i '{a e"rl.

ql"q Rrer \ri6 s{ .[Irh ral.u r.utt qLqI.

3

5

5 t4
l) usr.ft rLLqr{i uarettcr \)e{t rrutt4L,[ gctt.

(o,r) u+r.t (t'r) 6,tLr[rl d{l (r) {qte[ (s) trlE2) uatara q)a-{l rrqr {qe3qr:i .1rr a.
(r,t) {4er @c (q) qqt.teti (s) qr"ldl.0 o{qu (3) {ild

3) ,taLete 'rle{ 'r*rq{ ...........,. t}.
(o{) rr.-e-rcrr (ot) q-s-rctr (r) s-q-rerr (s) ro-rr-rarr

4) laLera \)ar4 ............,. .tq<tsqri etL't'.[c ddJ trnrl.
(u) rrleL @a (ot).tL.rdl.[ orcr6 (j) qqrns[ (s) +er)

5) uatcuet u)e-t uLcutrli tnt r).
(r,t) rre\uq'{ (ot) [s-e"[ dsq.{l (s) qqtleri

6) uarerrl t+Iru.0 r{&dl 14tcLa[...........t1 oteLr$e{I e"[I sdl.
(.,r) u-out (q) g..rlo (s) {,rLcr

7) ,rntereq)etl g.rt ru.trti rrql gcl.
(u) lisdt (q) ,tlsL{t (c) u*

8) tatora Qe ...............gct.tt tt{3 t}.
(q) "Lit{i (ut) gtur (s) lifta

9) ''t4etL s4'{q qr:i rrgret.t c.d ............ d.
(u) u.n.rcxo (q) u.it.rcxt (r) u. .rcxr

l0) 't4et o+'-tcc{5?rlri guu-{i llc.{Ij -ur .............. d.
(u) o{l ("t) g,ll (r) rLutl

11) sr-rs ui o{lj rq.t lQe.t ............t1 {urL.ti ?n{ d.
(u) z.tra"0 (q) ttrqudl (:) .iqudl

12) odl dzeLti Jr. u) c{ot{ d.
(.,t) rL.ro (.1) gql (t) ,alar,l

13) 'arei t) .tl crLrurtgj ?r'4*"t4cir @q,tq.ecq.r{i r{ d,rL qld d
(u) st-tq, (ot) otor.t (r) gql

14) 'tleL oc'srts, ra']. erc{I.[ .............. ru d.
(,a) reLq (uL) eo{ (:) hqLu

(s) +4tr)

(s) 6,ruisa d{l

(s) 
"t3+

(s) .rursLa[t

(3) u.+L.rex.3

(s) qel

(s) r,t udls

a{otd

od

(r)
?.

(s)

(s) crrq



B.A. Sem.-I
Dec.2016

BAOOE 101 : Gujarati (EC)
j+ettruj qt{t,

Time : 3 Hours

q.rtt (r) cu s ral treo,+a r).

(r) eir na-tl rtefl nug alfaq] r,is .lu geL ojeL aL[{ r}.

Seat No. :

[Max. Marks : 70]

t4

t4

t4

I 'ut-rr-r't6etl .,r{ zqLLd[,,i-tt ea,r -i qRqq ruqi.
r{qqt

{t r4di-r lgcr}ti'r'u"{r.r.u'6qot+ ui hrt+t,[ 3rr r uttdutl

'li.t16urj:i *ttqa' qt-.u.t.ti !.oLa qdl irrie.li ,,tr",.rL.t3Ll *{.}-ft lr[hU'[ qi
,tqlAltl.tl .rftq4 suql.

r{q1t

r4t\,{t-1.ti rqi\crq (larLtir t4r-tq[ {{I 'j++'tLuj rLitd' i 1c,ris.t sr).

slureL 4 {r-tltr er"tl.

l) 'jc16ttuj *tt{o''ti +t tL"d aft
2) 'jql6ttUj .tt.lt,'ti orLq.u'{

3) .tfde.{I cJet uri 6drri:i qe[-r

4) 'j.tlouu:i tL{a'qi 3rret11r

{r{-tt 3gr,r Zqti't }trt1).

(+) r1u\cL aeL tt,d-{l ziscft gtrLr].

(r) t.u[4 (i) rtlFu (s) atdl (y) Rrds

(ot) r1u\eL aer rto{hr qq[q.{r:{l rLdrl qrq.[.

(t) "tqrs (a) r,rFta (s) t0 (x) 4erru (,r) t0
(s) rlUqq eer 1,41.u ho<Lell lod utL,ri.

(r)r,rLds (r) ureteq{l (s) etRts (x) ritiLtt
(s) auu [Q+aLrt'r *tLorl'fl .trrot [Pr[i Rrl trL'{ru .idl.t uro sd.

2

-)

4

3

3

3

5



5 '{lil }tAqt +tqrd[.u ]ttc.u ltluql +ltrri l43e{ qde r{i gqlot uLt. 14

(r) r,u.,rLt{[ qtiot rII Er.u{ r'tL{ 0.

(u).pn (ot) o+qrt (r).i"tetqreL (s) "[a
(a) "Qt-[ qtotd\i r'Lu,ruL cjlru,{l 3h t-tl {ctst{ uoL 'rLA 

rlql trfl" - r'tt hqr't

iqrit tL) AeI u+ltj d.

(u),tlg,{dar (q) {qeur (r) rLt,tut (s).t,{e

(e) ur."rL.t tL uiaorcrti ......... ut{ d.

(u) *<taR (q) "Nt{ (r) rq't (r) ut+gli
(x) uL"+Ltj dt,r ............. <L,l qlqqLq d.

(.r) "tr (q) +d (s) r.{ct (s) rsg

(u) 'Sqr.,tuJj qt{D" .u ss.tL.{l ri*t }adl d.

(.t) rx (oL) r( (r) tr (s) rr
(q) rl'uie arqnL,l ............. cdr.

(rt) tlialr (q) ri"[t tsLr (r) ,uctotc (s) tqlti.t
(e) i.tLtett [\at1 trt e{

(r,t) qe(at ctg (ot) 1cru,t (s) ttda{ (s) 't{lris *rt'0

Q) rl'tLiej Xut+.t+ si u{ ?

(u) orA.i (q) Ura (s).rsleu (.r).{,tacte

(c) iqits-tl \&dl Eti ru udl ?

(q) rqL'"ut (ot) ,,ri.,uercL (t) i++sr (.r) Ua{L,rfA

(ro) i,u-il'R{s' q'rr}L{ dj irr'totittj ........... rt< a1! r}.

(.t) i{r (ot) +tiia (r) o{i.L (r) o{-&t

(tt) rluie{L cj3j tLtt 1i qi ?

(u) utrrtLt (q) hauLrq (r) u.recL (s) rnttu'rst

(rl) r,u.ort-ri 33ctqt4 tcilt {ei lBd ?

(u) orqer (ot) it,u-is (s) t?6s (s) .tLn

(r.:) rhL.iej nqr.u rru.ut r).

(ar) garr +R't (c) {qt",{r.t (r) ulqrerst (t) ttdo

fr9 lur.ieJl +)e.'fl *ic"fl 2ft e.fL"

elt) +JEtq14C'(q'L (!T) -l'4\uell{ €) aUt2ld 6t "r\t'tttrr:t'
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BAO0E 102 : Gujarati (EC)

'qulqt @.t'

Time : 3 Hours

{rlit r) otqL g lai saurtrt t)
t) el.r la.tl rtctl r'ug url{au i3 a{t jct 1u art{ t}.

1q.e5qr-t iqiqcr( rrstcr'i{I .{.r[ rd.
l,tqql

cjrudi tqattttt 6qott rt'i [4ttn-0 luiuL rttcl,,ti.

r{I uarere q)q-['talcrt o.r,-t.raruLj +trLoredl .Ic.{irl s?i.

rtqqt

(

(

Seat No. :

[Max. Marks : 70]

14

t4

14

I

)

3

'"t4er oc' { uurul dI ,r-+tere q)e.{i {.larquu.l{.}-[ titteut ui rqlaql .t\ni.

S'[UrrSL ol 1s-t'itt cl"ri .

l) 'roicrr sr\'L ouqL {orq

2) 'rcietL oq' r0tfu.{I ql"qoL

3) su -uhrL odl{ rLaLA"t-t

4) 'r4<rL sq'.t[ :,triot r,rrl r,i.t

{lr-[ 1%q tqtt t Utrti.
(l,1) SJqa{ r,tri uLrl qts,{ei qqlcr r{..

(t) ,tlr.tL 6sL.l .[or.u -t,r].
(r) oLit{l 36t euu.{l
(.:) rl ,l rri, -i.ti{ ca{ .tl

(or) tBlqi"Lrl u{ r{rr{l qLsr.t r,ricL sii.
(r) ra.r 1)erL ei+t
(r) ,{elql hql.
(e) ip't1 eld 1zd.

(E) rtoentu-,+) dr rL,,e r,LLql.

4

3

3

3



(r) {rzs quqqr.[l goLt

(r) rrLl trJltl uqq
(s) q.? - j.qr \?erqr 4d ,l .is.r

(s) r.rtr[.nu u{arulj a*< n'ttt.r.ti qa hai cr'+i.
-tl{.utir{I do,r R:ei ,{rie 6{ gqrq qtt.
(s) "jr+dl euuL.{l nl uqr.tqesqt su d ?

(u) qdau sr (q) greL{al (r) "jru.ttl {tq (s) aeqdl{s(z) l{nrerer qle.{I rt rqcr.sqr.l. +Ltr{la gr+sLr utt rr+l r} ?

(u) qqL,tetL (or) rtlerera (s) rL.t{I.{I orqr6(3) o{icr.n ob
(s),{tLete'{)e.[I r'.r.tr{ur %Euq]t.

(ot) e-u-ccrr (ot) cr-e-relt (r) q-s-rarr (.r),g-,a-rcrr
(x) 'qru l,u.td)'.tLo Jj !dt \t (IO.IL slorqr ri r,[ts qL r[l+.u t[zsL !

qL qu+r slcL qlcl r) ?

(u) cL-ta, (ot) ot r.t (s) On (.r) tlut't

'.t4er @q' {q(ls?u }aq.L xstspri cJru{dl d ?

("t) rr (q) rr (s) er (.s) ro
@{l.u cr".t rl.[l aA ett,.r d ?

(u) rtteo ("r) 0u (g) tqr (t) oror.t

tarcuA ou{lt{r &lrurj h"t ro t+euur+i uLi t} ?

(u) ouoqr.tL old (q) qukrr oq (s).ut{}.[ orqtu(s) q11ea.{rul
wteLd atdl ureuqd .tr !i r) ?

(u) [te.tl etl (q) cie"{I sri (r) cis"[ srqqr-{l rot(s) e;6on 1sa.11
\arerd 'idt.n [lrrluq*rt,tL u3r,r+l ru g**.ti ur,eL t] ?

(.,t) .,teq $a't (q) rlus niorql (s) art.r,l,t (s) uj ucg
,.L ete-t) tq r,n oLt.trti qql g.tl ?

(q) usr (nt) *s{ (r) rlsLrt (s) rr,tgu
ust {I rLLour[ \q.[cu.e.t ttdtr{.{I s.iqr €dr.
(ut) Gueisr "ri{l (q) ,l rLett (s) r..q.hlu (s) rerdq lutl
qarerq'l. rq"r i4ct.t[ rru+r rrartpt slel r{ d.0 ?

(q) ouit{lo (q) uc{r ,izdln (r) $e?ll (s) 6uriR ti{l
'U\ 3:\-u trLtll' lfAj uD.< rq,r reuel.
(u) .tqesqL (ot) .tql4$ (E) t;1tc (.s) .ueE

'rr4.st @c, -tc.et3q[ 96 ttte{ IoLa ?rtj ?

(u) rexo (q) rcxr (c) rcxs (s) rcxe

5
5 l4

(q)

(s,)

(.e)

(c)

k)

(to)

(rr)

(tr.)

(re)

(rx)



Seat No. :

B.A. Sem.-I
Dec.2016

Elective-2 (SE) Gujarati
'As grtqlq-ttr,tl'

Time : 3 Hours [Max. Marks : 70]

q+-tL (r) e)-s ua-u 1l'tt tt,ut d.
(r) otcL z ra1 +totrLt ti.
(s) e{t ua-{I rtell tg atliat r,is dtL 3et 1et at[{ d.

I 3r{dl uLu tLtB.rr-tlt ,+R.r,r }tL'{i, ,lti w'ttiq e{-.j lat at[+I. t4
qqqt

w'L[i< e{tL er.rt ui rLl&.tt't,{Rq+ utt, d.t.u +tds ".1[&t..li 
tt.l-tLe] qRotql r'{oe r?).

2 duer uo,{rr-tt e+Ltni wl[i< e{i c.tr+ ht itrttz a{} 1oc}. t4

3

4

l,tqqt

,rlU spat {.rtUI lripll .t.rL{ Ski rirs r.{.tl-tl r,uste guql

-[.l-lL.rieli "t{ i c{ tltl .tiq euil.

(l) driqll ?rifa< e{-[ "Letldl
(2) {t+trtrt{ i.tt[\a
(3) 

"tLadl3 
6Eqte't'.ti rg r+Ia aLtlis l{'rLr}

(a) 'g[Q-{I r+tld[' tL D4a qLme

(A) -{l{-tL +t+LctltL ir.ti "rqLot ,,uql. (q{ .1 4)

(l) r,{Iul'i. ee.ltqqr sisai qrqr{el 6qLq

(2) * [3rLtatuL ,{ra-{l Reaqatqi.

(3) qtec{I .,tleqt-t't dc<rl lq.t r,ti qRe[.t

(4) .i,,tU.u tr{ui.{l utLQt,+.tl

(B) .il.ltL,tt{l .A ,i r,1 trlqt i'ieoi rtL'{l a'tuql.

(1) 'utLrd t.s ii ss 'i rla't ,l .la'L'

(2) gaq d ql"tore uettr, erl.

14

08

06



5

(3) t{3u+rti 60. qq{ql Rrhcr qu "/i{ d,,i.tl u.t },t a.ll rrt %.tt -r,II ?

(4) 'r,tt rtirsL'i jrr{}tt aq rlqqqttL !'
-[ri-tL qahL +Io+ fqseq q{a s{ erqrq urd.
(1) wlla-a e{-rl 1r-{ 16 {rqri q{i sdl ?

(ot) tcot (ot) rcrr (s) rcor
(2) wl[a< e{tl s-"t s,{ q,{i sdl ?

(u) Soru (ot) tt+L (s) qslea

(3) qith< g{{ h<uj trrr 1i usj ?

(q) eRria (ot) sReL( (s) eRelrisr

(4) tqlti< e{.u uarj ur g u1i ?

(q) ,rthru"tl{ (ot) heptl{ (s) aatl"rl{
(5) wl[d< e{rL trriurilj .u.r { .,ai ?

(,,t) etgutotJ.t (ot) srlluoL&.t (r) rtg.totJ,t
(6) "at1la* r{ td'icrdtor'}zetL ou"tri d ?

(q) qiq (q) tv (s) +u.r

(7) tqlti* e{-1 reto.t grelrtts 5{r {iiui i,u.\cr.,r[ utat't u.tl ?

(q) rc'rr (q) rcvr (g) tcxl{
(8) t ri[i* e{tt ec.rj .rq z..,u41.

(,a) rcre (q) ccrz (r) tcxq
(9) tqlli< e{ s.,rL.3tr[.rL s.{i tu.r[\stL nsridl e"tL ?

(r,t) tq.l.tt (ot) "1ru,t (s) gtqlrlut
(10) wt'itit* e{-ll 'qs u+ )er' ltirj +tt}cRqu s{ o ?

(at) tqcrrqL (q) tqlhsr (s) tLes

(11) wltit* t{ nrl&a qRcet r{i q{11 r{[qierttr r3"t u.u ?

("t) rrrr (ot) re,t (s) lx.u
(12) r*tilA< r,{q'r{.1 qt{'.u{ tR il.tl ut tl r} ?

(,,t) tr-tu"teLe {JaL (q) [L"[rL {Jai (r) taisr..t0+L
(13) ttlti< s{ s{a1 +rl lq't r,lssl li.{I {u,rLrri'rLql u.r't ?

(ot) .i3 qJar (ot) "i"J.tJar (s) "i:j orj'4tcr

(14) "o+iti< e{d 3er }zeu U+drl 4r{l urfgerriqr r{ d ?

(,,r) ro (ot) rr (r) rx

t4



Time : 3 Hours
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BAO0C-I01 : Hindi

Seat No. :

[Max. Marks :70]

t8

r8

F{r (1)

(r)
(3)

srft ca{ 3{FErd t t

<T$ 3Ttr + itr+ yn-ori ami B t

or-{rdlu-+, +w{ art{Srd qnr qr}rn t

!

t

"fta +1 5$t" +Pam mr M qrq sqflrq z Ul

3]'{iqt

EqFqqi fufuq

(1) *ds 3t{ 5P{" st{dl +r *-<rq-# rnq cr{ttg
(r) 'lrfls *{ crfi" +fum * $o s*{ frqr qi qf6qr

vrqfr {qfd std-dr t 'rftq 
q'f +l q{seft q"h Poqr vftrq +1H r t8

3IETiII

Eqftrqi'fdkc
(!) oraturtttutrffifu*"r:
(e) f6t&rm +Paat i qo qr+ftq o,wn

I er+ro *r ssrt' srs oP+tn or t{rE He dfug :
3{xltlf

'qer erd +rd.:rsr{& dt6&" sPcdr + sr8rrm or rra +} qffid fuqr
rrqr t r srgr$s t

stq{ qrwrdkq t

trl "t fi-a *+rr Pqego qrq

iFII i6€ rFt{ dTrlllt

rn or:fl-a i+m { t"

I



a

3{2IqI

"emq qwq t{ forf*

\rs ffidT +r 3lrr{ qr
3]iEdT St Fr{
er<en Ekix EFfr"

q-e erc s+ * 3TrqrrT,

eracrt d.n r.o <qr

o-ogrr ar+tn fuT errti
Afu-{tdfu{3{r+i I

3fllql

"rc<rftcm, c++r, <w +1 a*Xrmwd
{d sr Ec qrs-dr Jqt, ftd nrE ilrrqrr A l"

(!\ sr {& q}g ftdrq t

.sf frqFr

1) tF'rfttqrs

r) cE fr q6qn

l) srd +d'ft
8) flrfl - s+tT

\) iful3n$i
q) ftd+T.fl-d

b) sqr kn

E R-+aerri *tft +'lM t

t) ffiqr fi rme rtrra +r qrq
(!

t t lgorc efugrg, vUoy
r) q-*qFiE ff{Fiq Er€E[i s'r swnq ............. t | (er+q, vqrh EErq{t€

t) cr{rq{ tftrfr + mq*ftnri+t(qr*,3r+f,r)
r) qqr$ c'qrE fuq ........... * rgu rmrerr t r tr* +P+m, T*.rqrql
\) 'HRrqr' ......... ter sr sr6{ t I (+{, ers+s, iqr+)

S) ffia-< qT 51 a1q .......... t r (iFrda, Er{aaftE)
b) '5qwfi' +to n w + .......... sfu qri nri t I

(eRthnrq cqc, rqrftq-srs ft:{)

's' frqFr
r) q-qrfrc-{rc fuq
r) irqErftflic ft.{s-{

i) s{+q

8) +qr{Trr elqi d
r) wmk uergtirr

il irrrs{
o) efoirnrq qqr



I

I
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BAO0C-102: Hindi

Seat No. :

[Max. Marks : 70]

w-{r

t 'ssi +-er qr' q-6rft + atqir $T qftr tq*"r dtqs t t8

'oB qd srrq'rgrft +r +rrrqn fufus t

'qdt' cerft \.cE {i+f,rFr6 o-arft t t futq ffis t

(r)
(r)
(l)

nS s1a 3rtlqrd | 1

sr$ .tt{ + d-o ,J"nsR E-dre t t

3ffirqsq-s'+s{ g{Pf{6d qr{r qrtn t

t8
3IXt {t

6-d* + aRt + sflrrr c{ frs * srfi 6-6r+ e} EE dftTq I

I furq dM fu'qrq$' u-erft qt{rflfq +fi + sqsrgt +r mr+ qRT+s t t re

3rsrqT

trt+-or***o"*,

r+ ffiErfufuql
rr*nrt er{ sr qft' furur 

3rqqr

{iqr 6r qfud fo{sr
q s{iqq {F€d N€tslq dlftq t

"Tq * Tw wqq q-r& qft o-6a wro rt or& t t" 's-<q{ +t qe{rq q6

\16 6-€ srr+ orrft t r wrt 6* * iq qr.n rtil t t srq * tlq r< qr '
rs qr& * t"

3IEFTT

b

"qrqa qmr +i eria +rr-{ ftn, ffiirttPfr, Bqr.eTBer st M +T qqq rff t t"

Time : 3 Hours

3l2tili



n +6err* +t1ft *H I

t) ril{r{ two or sq-qrs t I (++q, +qriq, Sq sr6+)

r) ,Iqftf{ Er{ o'-6rft sT qrq t | (src$, aqg, q-S)

1) d-€irkd 66rft + irq6 t I

(Js+ 66r srr, *ta * s1-a(, ei qr$ qreel

8) srftk{-{ur rgr* sT qg t i (Tc+&+, ss-{, q*)

q \rs'qrf, { s-qrq *fuq t

tl wFft-a P+q rerft $'r qrr t e

r) ErcS 66r* + i6s +t qrcft 6tft t ?

i) {-d-<r t$I{ 6-6r+ 6r crI t ?

r) errr t+s e-a-ft or qn t r

\) rnqr rr fu's q-erf,t sT cl, il '?

6 rkd*s fudrs I

'3r' F{qrrr 'E'ftqlrr

?) q{t&+ r) +q=iq

r) qt qd wrq r) *q qrrft

t) Jrg, t) scirRfd

t) +tr * Er{d B) *qc-+nT qriftF€

I

r) tft gsrqrE 61 rrg \) $rq lrs'Rr
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BAO0EC-I01 : Hindi (EC-l)
Time : 3 Hours

I 'qq qi crqrq' \ni 'i-6 d 6$' efa-m +r tnerd PaH t

3IXrqI

aqqrftfira fe-i-6{ dt Frqird fui}varsr} tn c$Rr srfus t

2 '{rrrfi-6r +*rfl{' r'q 'HRrqr' +tq-m e} Fr$gn t

3X'ET

#cRnq 3n-drfi qft qrqJrd F{rM' ftRE-t I

3 andc Er qF{q +i Eq '6lfri-qm" \'ri 'ir6ra nt< rq+ qrc' Efudr +} qrErr$+ r

3nlq[

qqrk {6r5ftt6 qi 6rq,rd tq*q-nsl c{ csrr srftq t

4 qldd Efudrclt + 3flqR q{ ffir+ qit 6T6q.lm FqrM, fa@ |

3rttrn

ctqd qwr sliqq -

(A)

ff red ge t++ lrd aff ggo),

w <r< - <r< I :ro c,ft 1g+i,
*trtd+{HEcr+,
* uv a 5I gr+* wr<r |rr<,

i *q srgot anbr,

3rc+ fi-d +{dr A
* d 6g*i.tu A-u-m {,
+ tutuq - t6k{ +,fl-6 tq?n t I

Seat No. :

[Max. Marks : 701

t4

t4

t4

t4
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(B) f&'r& qn

6& {& Tn

et gsl

r &+ qrr{ qi t
' c&6iM,

.Ers scm I
3Tr{ 5rr{ iflq,r gc

3ffit
Rrrm t si*r g
kl cErS d
** qr< ,rS d
E I{I
Slrqr r

gg<r{gn decq t

(A) w ere { sm FaRrr -

( I ) eftirRrq q€ri-S +1 [d q* +r arq Rrd t

(2) 'qls *{ st{' 6trdr tcr{ +re qm t ff t r
(3) .:riq-S tue qr< * ro.t6 cr+ dr+ t ?

(4) m,n{" 6r E{r nrq ftiflE+ t

(5) lrtftq< +r {rarrr wr t r
(B) rrol vr ,rrr qarSt -

(l ) rftr qrhr qqrfi c'qrE Mt or qrer *flire t r

(2) {tq } q+ tfrihnrq qq{* d rqlr t r

(3) {rmiir +ftrdf ,qrn,;rc + ftrs} t I

(4) 'ffi irql + ffi Err dT6 c{ ir}q sft q{td T{wn Frer r

(5) ettiilnrq <ra< or qror 6rq {r-6 1935 I rorftm gsr r

(C) se ds Frdrsn -

(a) arqrtrqtr$fira (a) ernn qr ffc6
(b) rrerft lrtrr< tcq (b) ffiqftn
(c) +qrr<rE 3ir"rd (c) slTr

(d) Tqqrftftc i{-i-or (d) qrr q q !11 dq

t4



3

Seat No. :

B.A. Sem.-l
Dec.2016

BAO0E-I02 : Hindi (EC-l)
Time : 3 Hours [Max. Marks : 70]

q*+ , <r{t w} $ rio wrn t I

I 'rsi +'a qr, 6'6rS * grirr cr F{ft-d d qrRk6 h}rtrt ldfuc I

3IITET

'e* $ w6u' rm lfr* *na rtri t qrgrss 
r

2 rar$ rar S rd S s]Iqr{q{.qlc$, Fdr{t or teir+ dfuq r

3RriT

'{-roia orqw o-erft d o*rrq frw+-r sr+r s*q {e dfnq r

d*q + frtuc,

(ir) 'qs tH' 6-dr+ 6r {RirT

qEIqT

'gs EH' 66rft Er styc

3{qqr

(q)'lq{6ErS*6qrEq

'aq-{ c'I lRr furur

(or) dqd {Fta eI@r dfrq :

"wt rga wr I h lft ret ff ge *lr eft m +t r r** qfu d rn or t, ftl
4t dt wr cr ff sqg+ T& dt'ft ? ffi t, oq {& ! d 5{Ii *n wr rqr fi t r.

SIalqI

"gqnr dBq qk s] srn *r * rnr t si 3{ftifra mr* qfr, srron ekt stt(

rq * i+*re * wr ta-+l {+ rsrir srdt I ac E* frsr{ t iffinq 6] rerqr qrs+ i - gff

+i T6 6r+r lrdi t r"

14

14

14

14

3ruifl

4



5

(s) 'qt d s}&-ff sm Pffi.d{ +a + 3{Ift,F + fu'r d I * fr ff t Frriritqen,rc t-€M
6$ dt'* +e -'no qr {$ Eftdrto * r * r< t o"e rff { t "

3ISrqI

'qr it * Xa+t a-<r<r qrl ctfr, * i H urtm P6 ffi q-arft a r i {rrr qrr rt {qr,

d {S Ss* qS ffi * fu< cctff t d {cT 3rc's{ o-< T6dr e r"

wql]FRdPqc: 14

(q) s& fow gq6{ Rfisr{ r+ Eftr dfiq 
'

(l) q-*qrrqf ,fet-$i S6' ............. o'trhql Rild a | (+, ff{, qro

(r) ci qr{ sr6{ sF { srct s}t qr$ * ........... s{ s} * I (cts, crT, q-fi)

(i) g+<t S vft ET arr ................... qr I ({qtflq, qrrr&q{ul, srffiq{q)
(B) Qq; ff srtrd sEr+ * +ss -........ t | (Sq sr6ff, *+<, *qq<)

(\) sqr tft{{r tdfuiT !rrr& ..-.-.-- ? t (rstfcr, sIcS, q*)

(s) ......... {srff { td + {IqIq cti t qrr cr{ffi IflM * qtnFrd cr t*oq"r ?oq t t

1sg| qr51 m, r] cIE {rr{, P{€rFrfr c'r sqr9

((') n6+{r qfr qrm & t (smfu, c-ftr, trg)

(a) {&,rd fr sa{|q dlfrq :

(?) readte qsr *q< alc { {r& d Tqr I

(r) c$ qr{ qrr* orrft S ftno qffi t t

(3) {lrqr EI EEII q{ rFIr rII I

(B) crc$ sa-* * q5i-fridffi+ftgpmTffA+t I

(\) *t Sq re qrq, +er, (ci fu{tft ? Erfl ds A sr{d 66r{ 6r t t

(s) scqc-6m ftkd 6"6rS 6r arr \ t t

(r') rftr tlrt g tH wrS w qrr rfi t t
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I 'E3 qt * *Ji' rtr* +r si{q rqe dtnq r 14

3tqfi
tcqtft fttus :

(l) ticr sr ifud-Pdror

(2) qugr mr t+ t

2 ffigr Fn.i,fur + am fudt i g{m d € o-ar or tq*'r tqqr t, fuur dfuc I 14

3FIql

,l{ddqrRfuoFqlM qEdfuq I

3 '*qar or q|'r< rardt i+q qrqq-d{trq qtt{R di sqrqfR ffi sr {ffr+i t ! fuq ettfrs I 14

3rllitT

'q'q' 6dr{t sr 6'{RTrt fufus t

4 erieq q@r dfdc t 14

(1) "vqapa {1qqqq t{+, 6t 3iq6ri d dt6'r{ l-{e s1"r"

3I1FII

";rff-rff, wn fr ;rft l" +n te r{& + S q{ 1-fi t t * a} qa fr #qror A I s( srq :rdi I

(2) "orc< d .m, <it rcit t ansr +1 lrift Fra {'E"

3T{rqT

'furc reqr ff {rqa s} r am d r.o rgor t, stto cr qirg3Tlt I +ft, eitff *i s{rqnT,r$ n 3rgr B

grr{r 3{q{ ,yr ft6r€{ ffi +l ftgmulenl ar t"

5 (A) sf+( qls fqdr{+ , 5

q ftrqm q fqqm
(l) <rf,d +.{r
(2) &-dr ltsr *rt
(3) {sg *s
(4) ,rqd et{rd

(5) rqftlt Er+r{r
(B) ns( errrl dt Xfr dfss , 5

(1) ]a&qT q6 ............. f6rit t | (3{i!tu6', qftirns)

(2) ftulsft +,rtd-s'r qlq neft ............ t I t{kflrsrq, +qrisl
(3) S$ ! A'i ftc sq qf{ ........ t | (yRrr, fq-$, rq)

(4) w {.r + {d rr+ { ......... a-cor6,,* {tu qirr 16r t | (T{,r, s{5, *d)
(5) rrqa ft qft +r arq ........ t I (+S, ,Iqr)

(C) o s& qunra rers A&q r 4

(1) qB m'd i& o6rn qq-tr+s 6dr+ rirr6 t fr rrE t I

(2) 'rqd rr 
q{ a1:r+s {16"r *.d *

(3) tgdt i oar d r<trr +i dsr+ sr cqrs tu-<t t I

(4) slr6{ sr *tr{ qr6r& d 
"Itr6r 

ir+{ft t I

Seat No. : _
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IA Answer any four ofthe following questions :

l) What is the real prohlem before mankind ?

2) When will hunger no1 affect us ?

3) Why are bores always happy ?

4) What are the various t),pes ofbores ?

5) What does Nchru exp€ct from his letters ?

6) Why was thcrc no life on eanh long ago ?

7) What are the three aspecls ofdcmocracy ?

8) What dangers must we avoid to rctain our dcmocracy ?

Write any tyo shorl note\ o[ the follo$ ing :

l) Swami vivekanand's yiews on thc sccret ofwork.

2) Lucas's viervs on [Jores.

3) The condition ol'earth in old times.

4) Merits of Democracy.

8

6B

2 A Answcr any four olthe lbllowing questions : 8

l) 'ly'hat is the reason ofthe poet's sadness ?

2) How did the village school master look ?

3) Why does the poct say that the time has wings ?

4) What did the rustics think about thc villagc school master ?

5) Who is called "a loveliest Flower" in the poem "l'he llducation ofNaturc" ?

6) How does the poet regain the faith ?

7) Who is the speaker ofthe poem, "The Education ol'Nature ". ?

8) Mention the playful activities ofLucy as described in the poem.



B Match the words in Columns A wifi their antonyms in column B

AB
l) Rise l) Outward

2) Haste 2) Fdl

3) Late 3) Soon

4) Inward 4) immature

5) Ripe 5) Night

6) Day 6) Delay

3 A Fill in the blanks by choosing a proper option from the bracket ofeach sentence. 4

l) He finished the iob (Quick, Quickness, Quickly)

2) 1he children are playing the garden. (on, in, out)

3) She sick today, (has, is, was)

4) He is taller his father (then, than, there)

B Fill in the blanks using Be/ Do/ have as the main or ordinary verb.

1) What _ _ (be) your father.

4

2) (be) here in a few minute

3) you (do) a( prcsent ?

(have) lunch before I Ieft for the office

C Choose the correct yerb from those in brackets (;

l) The earth round thc sun (Move, Moves, Moved)

2) Soham fast when thc accident happencd

(is driving. was driving, drove)

him fbr a long time. (Known, have known, am knowing)

4) 'lhe soup good. (tasle, tastes, is tasting)

him a letter tomonow. (Drop. will dropped)

Mona at the zoo. (have seen, saw, see)

A Read the following passage carefully and answer the questions give below it. E

Ones a village merchant heard that a big pair was going to be held in the

neighbouring village. He made up his mind to go there and sell his goods at a

profit. He went there and sold oll his goods. He got a good deal ofmoney. He set

out for his orr.n village at sunset. He set out for his own village at sunset. He was

on a horse-back. On the way he had to pass tfuough a forest" when he reached

The doctor

What

4)r

3)l

5)r
6) IJe

4

6



B

Q.5 A

B

C

there, it began to rain heavily. He was all wet, He blamed God for the rain. He

feared that the robbers would rob him ofhis large sum ofmoney.

At the very momert he saw a robhr coming to him. He was much frightened

to see him. The robbcr pointed tho gun at him and tried to shoot him. But he failed

because his gunpowder had been damp because of rain. Seizing thc opportuniry

the merchant escaped and galloping his horse, he ran away. Thus the rain that he

planned, saved his life.

Questions:
l) Why did the merchant go to lhe neighboring village ?

2) Why could the robber not shoot the merchant ?

3) What saved the merchant's life ?

4) When did the merahant start his retum joumey ?

Write a short composition on any ofthe followiDg. 6

l) My fbvourite teacher.

2) lnfluence of Mobile phone on our lil'e.

3) Pollution.

Answer the following questions in one scntcncc only : 8

l) What does Swami Vivekanand say about ignorance and knowlcdge ?

2) Which help is ofthe highesl B?e ?

3) Why according to E.V Lucas is everybody is a bore ?

4) What is the bore's geatest asset ?

5.; How oid is our earth ?

6) Why was there no life on the earth for millions ofyear ?

7) What are the dangen ofhero-worsbip ?

8) What does Dr. Ambedkar say aboul civil disobedience and Satyagraha ?

State whether the following statem€nts are true or false : 3

l) Oliver Goldsmith has wdtten the poem called, 'the village School master'

2) Lucy is the name ofa flower

3) John Milton wrote a poem oalled, "How soorl hath time"

Match the words in Group A with group B. 3

AB
I ) Scientist t) Writer of history.

2) Historian 2) SupPortff ofwomen's cause.

3) Feminist 3) leamed person in the field ofscience.
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BAO0C - 101 English
(Introduction to Literature)

Time : 3 Hours [Max. Marks : 70]

Note : Figures to the right indicate full marks.

Define the term 'Literatue' write in detail the characteristics ofliterature. 14

OR

Discuss the aims and objective of Literature.

2. Discuss the Origin ofOne act play. 14

OR

Analyse critically the techniques ofOne act play.

3. Draw the character -sketch ofBishop. t4

OR

Discuss Chekov's 'A Marriage proposal as a farcical comedy.

4 Explain the following literay terms briefly.(Any Seven)

l) Plot 2) Climax 3) Humour

5) Dialogue 6) Protagonist 7) Theme

9)Conflict l0) Poeticjustice ll) Myth

14

4) Symbol

8) Character

I 2) Antagonist



5

(B) Answer the following questions by choosing the correct option given

below each statement:

l. The name of the Bishop's sister was........,.....

(a) Persome (b) Ruby (c)Atlanra (d) Goneril

2. The convict threatened the Bishop with a.............

(a) dagger (b) loife (c)gun (d) pisiol

3 "A Marriage Proposal" is a ................

(a)tragedy @) comedy (c) dark comedy (d) Farcc.

4. Lomov suffers from

(a)Muscle cramp (b) heart disease (c) diabetes (d) tumour

5. Protagonist is generally tle ...................in a play.

(a) Villain (b) Hero (c) Dancer (d) Cloun.

6, ................is the axrangement ofevents and accidents

in a literary work.

(a) Theme (b) Plot (c) Dialogue (d) Chorus.

ti

6

(A) Answer the following questions in one sentence.

l. Give the types of literature.

2. What is the primary function of Literature ?

3. Define literature ofknowledge.

4. What is One act play?

5. What is the other name of One act play ?

6. What are the four humours ofthe human body ?

7. Defrne Climax in a tragedy.

8. Give an example of,symbol'.
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Writer
I Sir Phitip Si&eY a

2 P.B. ShellY b

3 John DrYden c

4 T.S.Eliot d

5 John Donne e

6 Dr. Samuel Johnsol f
7 Matthey Ardod g

B AGwer briefly the following questiors:

I Who is the writer of"llamlet" ?

2 Who has witten "The Rape oflhe Lock"?

3 Who is the author of"Pride and Prejudice"?

4 Namc the witer of"A passage to India'
C F'iU in the blaiks in the following s€ntences :

John Milton wrote an ePic called

Seat No. :

l-ime : 3 Hours

Instuctions : (l) Mention clearly the options you attempt'

(2) All questions carry equal marks.

I A Match the literary period given in group A with their age as moEtioned in

goup B
Group - A

l. 1559-1625
2. t625-1660
3. 1660-1700
4. 170r-1740
5. r 798-1832

6. 1890-1918
7. l9 t8-1939

B Aaswer briefly the following questions

I Give two Ilaines ofthe drarnatists ofthe Elizabethan age

2 What is the meaning of "Renaissance ?"

3 Who was Virginia Woolf ?
4 In which age words worth flourished as a poet ?

5 What are the chief char"actelistics ofthe modem age ?

6 Who was Alexande! PoPe ?

Relate the \4rite$ to their age

[Max. Marks : 70]

1

a

b
c

d
e

f
s

Group - B
Romantic age

Edverdian age

Georgian age

Caroline age

Augustan age

Eliubethan age

Restoration age

Age
Jacopian a8e

Age of Johnsoo
Age of Queen Victoria
The Elizabahan age

Romantic a8e

Age of Dvyden
'Ihe Mo&ra age

7

1

I
2
3

What is a

4

l

"King Lear" uas written bY

"The waste land" \nas $'ritte[ bY

sbort story ? Discuss irs origin and grorrth as a literary form ?

OR
3

"A short story is not mercly a novel cut-short", Explain this statement in detail

t4



4 A What lesson did efim leam ar the end ofhis pilgrimage ? 't

OR
Dtaw the character-sketch ofUncle Jules

OR
Wrire a short nole otr the appropriatencss ofthe titlc, ,.Mr lord, the baby.',

B Write a short note on any one ofthe following: 7
I Elisha

2 Raicharan's Sacrifice
3 Cod Iives in the Panch.

5 Complete each ofthe following statements by choosing the conect option from
those given below each statemeflt. 14
I The period from 1559-1625 is known as

(a) Age of Shakespeare (b) Augustan age (c) Restoration age.
2 'Ihe period from 1798-1832 is known as

(a) 'Ihe Modem age (b) Age of Wordsuonh (c)The Augusran age
J The term 'Renaissance' means

(a) New awareness (b) Neq.A\.!.akening (c) New Discoveries
4 The Age ofPuritanism is also called

(a) Age of Orthodoxy.
(b) Age of Reformalion
(c) Age ofReligious intolemnce.

5 Who is held as "The National Poet ofscotland" ?
(a) Oliver Gold Smith (b) Robert Bums (c) Collins.

6 "Touchstone theory" in Erglish literary Criticism was proporurded by
(a) Tennyson (b) John Ruskin (c) Matthew Amold.

7 lhe most unusual evolutioo ofthc novel from in the Mentieth ceutury is seen in
(a) The Novel ofideas

ft) The problem Novels
(c) "The Strean ofconsciousness'' fiction.

8 Among the dmmatists ofthe problem pla}' lhe greatest is
(a) George Bemard Shaw (b) John Culsworhy (c) Henry Anhur Jones

9 The term "knagism" was coined by
(a) T.S. Eliot O) Ezra Pound (c)Amy Lowell

l0 The greatest figure among the new critics ofEngland is
(a) F. R. Leavis (b) T.S. Eliot (c) I.A. Richards

I I "T\r'o old men" is written by
(a) Gogol (b) Tolstoy (c) Dostoevsky

l2 "My Lord baby" is \\,, tten by
(a) Rabindmnath Tagore (b) Prcmchand (c) Anish.

l3 Raicharan's master's name is
(a) Narendra Nath (b) Anukul (c) Adsh

l4 "God lives in the Panch" deal with the problem of
(a) Social realisrn (b) Psychological realism (c) Superstition.
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(l) Mention clearly the oplions you attempt.
(2) All questions carry equal marks.

Define Literature and discuss its nleaning.

OR

Write a detailed note on the various qualities ofLiterature.

OR

What purpose docs Lilerature sene ? l)oes it delight or preach ? Discuss in detail.

What is one-act-play '.) Discuss in deuil its origin and development.

OR

"The one-act play is nor a liill lengrh play in nriniaturc.', Elaborate.

OR

Enurnerate the structurc and techoique ofthe one- act play.

Evaluate "Bishop's Candlesricks" as a onc-act play highlighting how good elemenls in

human nature triumphs at last.

OR

Evaluate "A marriage proposal" as a farce.

OR

Write shon notes on any two ofthe following.

1 Lomov and Natalia s quarrels.

2 The Character ofPersome

3 Moralof"TheBishop'sCandlesticks"

Wdte notes on nay sevcD ol thc lbllowing:

I Protagonist 2 Dialogue 3 plol

4 Conflict 5 Climzx 6 poeticjusricc

7 Theme 8 Symbol 9 Humour

Complete the following sentences by choosing the right options.

14

1.t

i4

14

is the soul ofone-act play

(a) brevity (b) action

2 Mystery artd miracle play were written during

(c) suspense

3

I

5

(a) Classical Period (b) Medieval period (c) Modem peliod

t1

Instnrctions

l.



3 "By reading ofthe deeds ofgood and heroic men, we ourselves are led forwards

goodness and heroisnr" is the statement made by

(a) William Shakespeare (b) Philip Sidney (c) William Words worth

The candlesticks were very dear to the Bishop b€cause_
(a) [t was valuable

(b) It was made ofsilver

(c) It was given to him by his mother.

4

6

7

5 The Convict wanted to go to

(a) t ndon (b) Moscow

the convict's wife

after he was saved by the Bishop

(c) Paris

(b) Jeanene (c) Mere Gringoire.

is the author of"n marriage proposal"

(a) Marie

(a) L.eo Tolstoy

8 l,omov was patient of

(b) Norman Mackirutel (c) Antony Chektor

(a) blood pressure (b) epilepsy

9 Ac{ording to Persome, the Bishop was like

(a) a Child (b) a girl

(c) diabetes

(c) an adult

l0 Initially one-act play was known as

(a) Performance of entertainment.

(b) Cunain raiser

(b) Short action play.

l1 The highest point ofthe crisis in a tragedy is called-
(a) Catharsis (b) Climax (c) Conflicr

l2 Thevictory ofthe good and the defeat ofthe evil inaplay is called

(a) Hamartia (b) Catharis (c) Poetic Justice.

l3 The text book prescribed in your syllabus "Selecled one act plays" is edited

by

(a) Satyanarain Singh (b) Sachithanardan (c) Shriraman and Colir Swatridge.

l4 A picture ofhuman skull placed upon two sla[ting boned crossing each other is a symbol

of
(a) darger (b) disaster (c) death
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(A) Match the literary periods given in Group A with their agelcharacteristics in Group B
AB

(l) 1559-1625 (a) RcstorarionAge
(2) 1625-1660 (b) Agc ofRomanticism
(3) 1660-1700 (c) Pu tan Age
(4) 1798-1832 (d) Clubs and Coffee houses

(5) 1832-1890 (e) The Modem Age
(6) 1918-1939 (f) The Mctorian Age
(71 1939-1960 (g) Inter-war years

(B) Answer any seven ofthe following questions:

l) Who established the metaphysical school of poetry?

2) Name the poets uho popularized the Heroic couplet.

3) Name two major poets ofthe Romantic Age.

4) Who invented the dramatic monologue ?

5) Who wrote the L].rical Ballads ?

6) What is thc mea.ing ofRenaissance ?

7) Who uscd the stream ofConsciousness tcchnique in his novels ?

(A) Match the writcrs in croup A with their literary works in Group B
AB

l) William Shakespeare a) Time Machine
2) John Milton b) The Waste l,and
3) Christopher Marlo*e c) Paradise Iast
4) S.T. Coleridge d) Vlysses

5) Jzunes Jolce c) Dr. Faustus

6) T.S. Eliol t) Kubla Khan
7) ll. G Wells g) King Lear

(B) Relate the writers in Group A with the Age thcy belong to in the group B
AB

l) William $t)rdsworth a) The Modem Age
2) William Shakespeare b) The Elizabethan Age
3) John Dryden c) The Romantic Age
4) .Iohn Ruskin d) The Mctoria Age
5) Alexander pope e) Neo- ClassicalAge
6) Charles Dickens f) Age of'fennyson
7) W. B. Yeats g) Restoration Age

What is a short story'.'Discuss its origin and development as a form of literatue.
OR

The Short story is not merelv a novel cut short... Explain.

07

07

,7

2

l4

07



4 Draw character sketch of Raicharan and justiry the title "My tord, The Baby."
OR

Bring out the contrasl between the two pilgrims Elisha and Efim.
OR

Wrile shon noles on nay two ofthe following.
(l) The narator's feelings for his uncle Jule.
(2) Endofthe slory'God lives in the Panch'
(3) The attachment between Raicharan and his mas'ter's Little Son.
(4) Elish and his services to the poor family in the hut.

Complete the following sentences by choosing the right options.

14

t4)
is kno\m as 'the nest ofsinging birds"

(a) Elizabethan Age
2 The term "Renaissance" means

(b) Restoration Age (c) Romantic Agc

(a) Rebirth (t) Reviva.l
3 The Univcrsity wits are known as

(c) Restoration.

(a) Pre- Shakcspcarean dranatists. (b) Restoration &amatists
(c) Scntimcnlal dramatists.

4 Bcn Jonson popularizcd the
(a) Comedy ol manners (b) Comedy ofhumors (c) Black Comedies

5 The age ol Dr Johnson is also known as

(a) The Purihn Age (b) The age ofTrdnsition. (c) The Neo-classical age

I

6 has written the Faerie Queen
(a) Philip Sidney (b) Edmund Spenser (c) John Milton.

7 The most popular film for children "Jungle Book" is based on the story with the same

narne authorcd b)
(a) Ruskin Bond (b) Rudyard Kipling (c) Jim Corbett.

8 Thc world lamous Sherlock Holmes detective stories arc authored bv
(a) Agatha Christie. 1t) Perry Masson

9 The family u,es shocked to see rmcle Jule
(a) Cambling in the casino. (b) Begging on the seashore

(c) Selling oister to the tourists.

l0 Elisha had the habit of taking
(a) Snuff

ll Efim and Elisha decided to go on a pilgrimage to
(a) Jerusalem (b) Palestine

t2 The baby callcd Raicharan as

(a) nana

13 "My uncle Jules " is \a tten by

(a) Leo Tolstoy

(c) drink

(c) Bathlehan

(c) Ma-ma

(c) Guy de Maupassant.(b) Prem Chand

14 The story not included in the text book "Eight Short Stodes" prescribed for your syllabus
is

(c) Sir Anher Canon Doyle.

(b) Sleeping pills

(b) Chan-na

(a) The tu'o old mcn - Tolstoy (b) God Lives in the Panch - Premchatd.
(c) The Modcl Millionarie - Oscar Wilde.
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1 Tom Sawye$ advenhres are nobel and naughty,heroic and humorous..Discuss.

OR

Writ€ short notes on any two of the following.

(l) Aunt Polly

(2) Huckleburry Finn

(3) The discovery ofteasure

(4) The youug pimtes ou rhe island.

2 'A Metch the words in column .A wirh their synooyms in column .B,

AB
Blunder stupidity

Cannorr worry

Folly large gun

Anxiety mistake

B What dio the following abbreviations suggcat or stand for (any Four )
Pl, Ltd, eg, srh, ie, sing abbr,

C Do as directed.

(l) kam English well ro ger good Job

[use 
.so that, in the setrterc€ to express. the purpose ofaction]

(2) when my $andfathq was old he was able to walk l5 miles a duy

[use proper modal auxiliary to replace the underlined part ofthe sentence]

(3) He is your close friend It is your moral obligation to attend his marriage ceremony

[Re wite the sentence using the suitablc auxiliary must ,can ,may]
(4) Your scholarship forms will be processed provided that you mention your

Aadhar card number

[Re\4rite the sentelce using .only if, at proper p]ace.]

(5) The prime minister Mr. Modi is going to aftend the inauguratiotr Function of
Banas Dairy at Disa in Nonh Gujarat tomorrow.

[Use infinitive 'to' for the ulderlined constnrctioo to express future tense]

(6) If you hav'e finished your u,ork earlier, you .. Iq"
fFill in the blank with right modal auriliary may, ought to, Need to]

t70l

t4

4

4

6



A Wrire a Lefter to yol.ll cousin expressing your regret for not being able to attend his 1

marriage ceremoIIy.

Or

Wrire an appropriate letter to your sister who lost her mother in Law in a train accident.

B Read the following Passage carefully and answer the questions given below it. 7

It was on October 31,1875 that Sardar Vallabhbhai patel was bom in a poor patidar family
at karamsad near Nadiad. He wentb to Englald for lurther studies and returned in I 9 1 3

as a barrister .sardar patel's political career began in l91g when Gandhiji advised the

famine -stricken peasants of Gujarat to organize Satyaglaha and to pay no land tax to
the GoverDment. But it was in the year 1928 ,when he successfully organize and led a

pcasalt's revolt in Bardoli ,that sardar patel rose to great heights of fame ,At the end of
bardoli afain,srinivasa Shasai wrote to Gandhiji on September 7, 192g. .Vallabhbhai

has risen to the highesr rank.,His skiltul handling of the problem of the states and

successful police action in Hyderabad raiscd him to the le!.el of a g:eat statesman. He

changed the political map of India by bringing together rhe 600 _odd states with rhe rest

of the country to folm a united, strong and democratic India . Sardar patel deied on

Dccember 15,1950.

Questionsr-

(l) How did sardar patel's political career begin ?

(2) Whal made him a gr€at statesman ?

(3) How did he change the political map oflndia ?

(4) Give ective forms ofthe lbllowing.

Succeed, skill, democracy, politice.

Translate the follo*ing sentences itr to Cujarati or Hindi (an], five)
( I ) Who will bell the car ?

(2) Smoking is injurious to health is a staturary waming.

(3) It is no use advising a ]oung m.u not to use mobile while driving.
(4) I have seen the film 'Jungle Book, twice.

(5) How much do you pay your maidserva[t?

(6) There was a time when no life existed on the earth.

Translate the following pass€e in to Gujamti or Hindi.

India is a lalld of many languages. They are all sisters. The more the affectioo
and understanding gro\! among them ,the more strength of Hindi and other languages

u'ill grou' .Hindi, Urdu, and other languages oflndia have plaled a signilicant_role in

B

5

I



6)

our freedom movcment- our poets and w ters took and gave inspimtiod to the people

through songs in Hindi Urdu and other lndian laaguages in jails and kept the etemal

flame offteedom buming. Hindi has to work as the link between the country,s dillcrent

languages are rivers tvhilc Hindi is the great rir.er and they would dry up uI css thele is

hteraction bet$een Sanskrit and the spoken toogues of the ordinary people.
A Answer lhe following question by choosing the right option .

(l) Who took the responsibility ofHuckleberry Finn,sbringing up and education ?
- Judge Thatcher
- the widow Douglas
- nus.Harper

(2) who had rea.lly murdered DrRobinson ?
- Huckleberry finn
- Red lndian Joe
- Muff potter

(3) The sun Tom and Huck had discovered as a heasure amounted
- over twelve thousand dollais
- not more then a thousand dollars
- only five thousand dollars

(:4) where was Huck generally found sleeping ?
- under shadowy tree
- on a bench in the garden
- lnside empty barels

(5) Tom Sawyer belongs ro
- st. pets bery near river Mississippi
- Florida in Missouri
- Hartford in Connecticut

(6) What had been Tom ,Huck and Joey doing when they were believed ro have
drouned and dead.
- They were really playing pirates on the island
- They had been lost in the caves
- They were hiding in the graveyard.

B Fill in the blank with right options given below each
(l) The synonym of'enry'is_ (Jealous].,anger,hatred )(2) The l'ull form of M.N.C.is

(Most noted Company, multi natonal compary, minor mtional company)
(3) The abbreviation 'sb'in a dictionary means

(somebody, signed by, si$boad)
(4) [ am sure, you ,.,...........pass with first class this year. (must will, need to)
(5) Through he hurt his finger, he............write in the examination yesterday.

(should, could, must)
(6) Work hard,.............you may pass.(so that, till, uutil)
O you can go abroad for studies... ... ...you pass TOFEL (must, only if, unless)
(8) MarkTwin isthepen-nameof..............

(Samuel Clemens, Charles Dickens , Oscar Wilde)

8
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B.A. Sem.-I
Dec. 2016

Electve -2-Sociology
(Family Welfare)

Time : 3 Hours
q.rtt (r) otqL r lal +?@,1.t rj.

(r) elr ra-fl rtefl oLrg et[.ic-u dr ,i.rL.5tr "jet at[{ d

ri3s.r -iC6r taA g ? rlu aetci IrBr.rql.

r,ttlqt

$crtL urults tr.{ 
",+rql.cnlA{ lllncr.i r,te[ qLr{l ,i-tt qr+u r,r,1 ts.q zuuql.

rtetcl
ge6rliii%.t r'i ueI uL.{l ggorFr{.r.t.{I 

'{q[Ar,rl ssuql.
.ld[criql {ael { ? ''ldt"LtuLt r{} rqLotar qRqql qc[ql.

uq{[
qad.sr.i a{ ut,{l .L{L rReri wlqi.
arz ioiqs tud ujt [\ric ectqLd is'ri ?r.r%rqi.

1t?rcu

lU6ato.ttrd 1955 lq.L,i +.Lmql.

{q{r 3%',r 6re) Utql.
(ut) 

"tU.rizL ct ri.
(i) 33+ nL.[hr tr{I.
(ii) ,tl,tu.La i[?"ra 3gor dzA ri3rtt gr,r
(iii) tireet r,ti lzr.r qa) rflrrl iioirl .r{I
(iv) '-uj 3gtt U,,0 jg6r' qi\uord <,tLr'{l r rtluzj 1et d.
(v) <Llrls luolur dad qzrd.u
(vi) <[&t.ri oE{.r\i clqrcrq[ qo qn{.tl 6.ri t3 rut d.
(vii) l+u+L dI ,{[4.[ fqera,rirfi ga *acr1 z t]r+i.lqdl t] d

(ot) dsri dh.
r,l

{3rrt 3!t't1 <ratu

uaLFrr Xreu
eJ% qetl

$At}td cuq[.{I qrq[i
qzulsL-{I uar
.l*lr4+qt:i crsrcr

lunq.ir{t.{I tr.ri.{r

Seat No

[Max. Marks : 70]

t4

l4

t4

t4

3

4

5

7

7

(i)
(ii)
(iii)
(iv)
(v)
(ri)
(vii)

6t

dl ui otLsrs.ti tal
3g"tj sL'i

SStthrlr-t tl ueh
{3sa Reua
tlatlsrj rtut
dse,tt
uLethrrtr.tl uouq



B.A. Sem.-I
Dec.2016

Electve -2-Sociology
(Family Welfare)

Time : 3 Flours [Max. Marks : 70]

What isjoint family? Describe characteristic ofjoint family. 14

OR

Explain the social function ofthe family.

Give the meaning ofsex education and explain aspect and importance of sex-education.l4

OR
Give the meaning of l'amily planning and discuss methods of farnily planning.

What is the meaning ofgeneration gap? Desffibe responsiblc factor ofgenemtion gap ?14

OR

Giye the meaning ofDivorce and discuss causes ofdivorce.
Describe do$'ry prohibition Act and special marriage Acr-briefly. 14

OR

Discuss Hindu maniage Act-I955 in dctail.

Do as dirccted. 'l
(A) State whethcr thc following sentences are true or false.

(i) Family is not Universal.

(iD Traditional lndian family meansjoint f'amily.

(iii) There is no direct relation between education ard reproduction.
(iu) 'Nanu Kutumb Sukhi Kutumb' is a value ofTraditional lndian society.

(v) Judicial separation means Divorce.

(vi) Old age in persons life starting liom at thc age of60.
(vii) A widow has the right to get the property ofthe husband equivalent to son.

(B) Match the following : 7

AB
(i) Characte stic ofjoint family. Issues ofwoman and child.
(it) Social security - function ofthe family.
(iiD Dowry - Method of family planning.
(iv) Rltham method - joiot property.

(v) Impact ofDivorce - Cau.se ofdivorce.
(vi) Charactcdstic ofold age - problem ofloneliness.
(vii) problem ofold Age - lack of self confidence.

I

2

3

4

5

Seat No. : _



B.A. Sem.-I
Dec.2016

BAO0E 102 : Sociology (EC)
cil?dlq ilil%

: 3 Hours [Max. Marks : 70]

(t) ottrt z lai +rsoua d.
(r) slg qa-il rte0 otLg at[.]ctL r,ir itt 3cr 1ct arh d.

c.tR.{I,+ +uLz-fl +rLruor - ri+trld.r .{l[.,.Lr] squql. 14
qetqt

"rLr{Igr 
+tja,r.i q{ utLr{l ii.t} era[Brs.u-[ q.{[ se).

s,rtatl UrI r'LL,l ,itL ,ti rU"L.t crAq.'r +,{oa t?1.. 14
qetqt

,riqu"L.t suld.,{qlrtLtt srql - hrLqI{I q{i srl.
e".t i 4tI Ut,{I c-r.c-r rit'rl{.t otfuc{cttL [\qirl Ze1ql. 14

r{Eclr.

crc-t {*u rt) usrLqu uR+.[tu q.d'tLt uqLul rt,{mq].
u+1r+aLd q{ s,rrL.{l a.ri arc .[} qqi td. 14

i{elqt

ptltr cr"tl.
(t ) UarltatL sLurl (r) qar)lL-0 u+td

ut) qLdI t",{L \ii. 7
r) ourd{i qru 'r,lt.i gcr .............. +rXa+I ,rl+L .14 d. (x\qo, xqeq)

trc-r [iiiq 3[:irrL.rL r,! A,trz,ti Uq,{ 8r. (+r.ut 3ht, r"ria)
c.trt [,r r.trt [ {t qlidlrr eratL d. (ao.tri+{u, $rrliri+qL)

[Q eLLrt Szot et"-t dr d. (rur, d+rLr)

tIi-rr-t r,ti+ dai{t8or drz u.r............... qi qsr{ z,noit. (tcce , teee)
u.rt. ........... -u :L.ra{I @ {Ii trL,r[i,ud{I oneL{qct'r'[ qfuLr,r,.,I d ?

(ret{q,, rc,9g)
61ut (01 11t|.oitt tlUi ................. dra{ ragL {iutqqrri btt{ f}.
(rtea, lqrrLrt"Lr)

cL) drsi dd.
1) oukll t trttt
i) "rrrfisr +r3a,r

3) lQ t'ttz
y) eci ri6ir{

\) qatd.sL

q) +trqe ,{{z dra
e) utRLL r,trltqtd]

Seat No.

Time

uq.tr

1

2

J

4

5

)

)

)

)

)

I

,
\
q

e)

7

r) rcqx
1) laeq
3) qg\[a ec-t

Y) %rtr-[ qcrPrr

l) {+e-[.tLJ
q) etLli "{qtqL
e) hhr{dr



Time

{r{{t

I

2

3

4

5

B.A. Sem.-I
Dec.20l6

BAO0E 101: SOCIOLOGY

: 3 Hours
(r) eql t rd lrsr,u.t 6.
(r) eL ra,tl lr\Btl qrg uLRaL {: i.t 3ei 1er arli 0.
ds tiuusrs lqat.t <t{} tr'tl.%rllTt u t44'r.[ +d rd.

u?tqt
{rLLsrun }t{ ur,ll ,l.ri Rrrcqg.0 lr[ rrl.
n3a,rd u{ ut{I .h 3"+ oaetl vruel.

bt?t.U

xrtfi- (4-i u{ uL,il ,ltr eee mrcl.
{qe".
i) u{r@3 [}u-ri a.ql. i) rsslr{t rrld

btq<tt

tuuot ststr-tl u{ ut,il i-u ir-ld nruql.
+Luos tirsr dzd $ ? ruuor chetl{ l*e uud.

ltq{
uruos trhsroi.r-tl or{ uL,{I ,ld rnsl4 rll.[ cd.
u) ',uc{t 

go,u .td.
t) ,ttllqerL'r d ............. RttL+ d. ( uLll&, arueot)
r) rteuNd {r\roi rir'iql.ft itaa {R.{d.r ,urr.ll d{qrEri

Seat No

[Max. Marks : 70]

t4

l4

l4

t4

7

........... sJqLq.
(n3a,r, n"rLt)

s) rute q[ij ersat st{rrti "6s{ tqqd ou.r otr{ d. (urlt:, gr+dl)

x) qR[&[a.o dqr rtni d ] *.u 6'n orflt:i hriaet e}.t d
(rLul, arq-tl)

\) r,l red {rqqr.{l {a 0. (eud, qfuL)
c) {@6 ................ i ,l-tL lrlilsl slq 0. (gr%ii, qf\s0
e) -{l arqcerLjt e{l{ z rt.tc u.trsrti qftIqrrl 

"r'1 
.a,{Rl\.ri

rtrrl }u\etl +iqJ "{qsn eL-r.{ qi t}. (rt"ori, rr'rreil)

q) dssi %iiL.

t) npuos lq$u r) q.[t 0 {..tI
r ) qr-rcl lrlr.od 1 ) +trrrt@i Fr.ilqL
e) sq6i s) {qi
Y) r*irrliqL Y) (i.rdl Krq) uJr \) uqh, 1r{
c) sL,{r). !,) ntd ec.t
e) +rd e) ,{t{urr.a

7

itlt[%e[[a.-tl r-tRarr+-rc - 9.ot



B.A. Sem.-I
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BAO0E 101: SOCIOLOGY(EC)
[Max. Marks : 70]

l4

l4

t,1

l4

Seat No

2

3

Time : 3 Hours

(B) Make rhe pair:

l. Social Science

2. Human Society

3. Family

4. Social interaction

5. City

6. Law

7, Duties

l. Bebaviour pattem

2. Social control

3. Contact

4. Secoldary group

5. kimary Group

6. Group Iife

7. Economics.

Discuss the feature of Sociology as a socisl scienca.

OR
Give the meaning of Sociologr and discuss its characteristic.

Explaiu the m€aning ofcortrmunity and disoss its characteristics.

OR
Discuss the meaning and chanctcristics of primary Croup.

Short Notes :

l. Elements of social act.

2. Types ofcooperation

OR
Explaio the meaning and O?es of social status.
ttrr}rat ar€ social norms " Discuss its importance,

OR
Dive the meanitrg of social deviance ad discuss its causes.

(A) Fill in the blanks.

l. Psychology is a-* scienc€ (rl't ral, social)
2. Established and coEsrant changc sFtem ofsocial relationship is krcwn

(community, society)

4

5

3, _ group plays an impofiant role to create human nature.

(Primary, Secondary)

4. _ is the aspect ofthe situation on $tich a person has contol.
(Conditions, MerDs)

5 is a style lo perfom duties. (Stalus, Role)
6. Social have its slmbol, (Status, role)
7. Our social conhct with known and unknown people can be possible due

to (Status, norms)

7
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B.A. Sem.-I
Dec.2016

BAO0C 102 : Sociology
Indian Society

Time : 3 Hours [Max. Marks : 70]

(r) qqr z rral +rsr,ud r).
(r) eU ra.[ nn qrg aL[iet {s .l<r 3c rjut art{ d.

oltrrorr {.ur.ll $Lults ui n'Lqlat "uRlrtl eet+l.
Describe the Social and Cultural Characteristies oflndian Society.

{qqr
tort aSaq.tl url ur,{I i.ti et€fl crfql.
Give meaning of Urban Conmufty and discribe charactristics of Urtaa
sult t'i q{ ur'{} i.'r ,rt{uor.r euerl qqld.
Give the meaning ofcaste and discribe its traditional Characteristios.

uEu
{LlA qfurdt{ q.frLt uqLei qelql.

Describe the present rends of change ofcaste.
e"t- r4{ ut,{I otrclBr+ rtgtGt ac-tlrtt aEratcr qcfql. 14
Give the meaning ofmarriage and explain thc fraternal polyandry with illustration.

r{qcI
Ct..r11ts{l q?i€.o[ 'prt Ft,iaet'[ qC[q'[.

Describe the restrictions on the selection ofsuitor
u+glr.utl r,te[ qr{I, i-[ r4nd qclql. 14
Give the meaning of untouchability ard describe its effects.

r4?rql

qar).sL+ r,tri qr,{l ,l{ rLlc[ qe{q'i.

Give the meaning ofdivorce and describe its factols.
A qlc,{ hseq q{r r{ utrdi {cqr Ud. j

Fill in the blanks.

1) ould\i j( ............ 3a4Id.
(ot) xlsq (q) xxvo (r) rtt{\
_number of communities are rhere in india.
(A) 4635 (B) 4440 (C) 4555

2) :!t.{d{ r4&zl1d.0 .rrr{I .............. esL d.

Seat No. ;

14

commun it!
t4

I

2

3

4

5

(lt) re
In Gujarat
(A) 16

(ot) rr (s) qx
% oftribals are there.

(B) 12 (c) 14



3) -rcr*3aqj crftel d.
(u) 6cd doiti (tt) tiaLn.iatL r,ic,iql (t) :urrhr s,iqcl

is the characleristic ofUrban Community.
(A) secondary relation (B) face to face relation (C) primary relation

4) ourrr{ arfad:i x1t9r .............. r}.
(u) rooo (ot) eooo (.r) rtoo

-- 

ratio of castes arc there in India-
(A) 2000 (B) 3Oo0 (c) 2s0o

5) atltufi{ t\rr:i 5ci3 d.
(u) u+1rt.u (61) [irerrat (r) $LhqLs

is the black spot oflndia Society,
(A) Untouchability (ts) itercy (C) casrism

6) dI dl qul.u dA rioitii sJcll{ d
(ut) c{Iq u.t (or) cltiqq-t (s) 

"l
_relation is known between the sex relation of woman and woman
(A) Live in (t)) r.esbian (C) Gay

7) c'uqqci q[A6iq 5r.1tl ............. -{l nLqqi qsrd.
(ot) rcre (ot) rcso (r) rceq
In-'_ 

- 

year the child marriage act came irtto existance.
(A) te2e (B) 1930 (c) re35

B dsrl dsl. (Match th colum A and colum B 7
I etLlil ElDro{

l caste hierachy

2 1cq\
2. 1955

3 tcet
3. t976

4 t tBe["t
4. Exogamy

5 crt.{Iqr

5. Rural

6 e"t
6. Marriage

7 y?,c-U?,\ qarl.tL ndl{ r,i6iql

7. Sex relation between malc and male

nu{ *d i{6iq htq
Incast taboo

ri+qL

Institution

e([dr,[t[ .rcal 6dkt1 5nt

caste hierachy
q+yrtrdr Rqller 3r1.r

Prevention untouchabi lity Act.
cl

Gay

rSaq
Community

Bg .il'r drz
Hindu marriage Act.

I

t.
')

2.

J

4

4.

5

5.

6

6.

7
'1.
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Time ; 3 Hours

B.A. Sem.-I
Dec. 2016

BAO0C 101 : Introduction to Sociology

[Max. Marks : 70]

14

14

t4

t4

${-u

I

2

(r) qqr s ual ersruc d.
(r) el, ra-[ 

"re{l 
6ug ad{at d3 t u 3rl 3er artQ r}.

u,umurn tad $ ? ,).tl 6qer+ u,l htt* +rrnq'[.
What is Sociolory? Explain its emeryence and devlopment.

.. wt*tj gt,Ra qd. 
uelqt

Discuss the subject matter ofSociologr.

t3alrl ur{ {'1, ,i-[l <uelQLsarr,i {qI.
Give the meaning ofcommunuty and discuss its Characterics,

1,te{qt

1t-tl ur{ ur'{i ,l'u rtsu a{} R!a.{dI {?r u;t Ered {?rtl r{e +roe sd.
Provide the meaning of Group. Diffcrentiate the primary Group and Secondary
Group as a type.

r+L.ults B.{ rlzd $ ? clti rt.qi zruql.
What is Social action and its elemcnm.

qEcrt

urtltt artr-tl ue{ }u,{I att }rltd %qtc{.
Give lhe meaning ofSocial Status and its type.
{rrf*g qhc {ed { ? ,i.ti l+qterl %BrLcl.

What is Social norm? Discuss its Characteristics.

1'tq.tt
trhCt !,r3i\dr.ri qel uur{I i-Li :trei %€t[ql.

Give the definition ot'Social conformity and meation its reasons.
A ql"q hgerr ,{rie r{ qrc0 s",rL gd.

l) ttruryrLratl 6qot+ .............. +{ +,rI.
(ot) rcrc (,4) tcaz (r) roor
ln _Year emergence of Sociologr was taken place.
(a) lele (b) 1838 (C) 2o0l)

2) { rurhs "6r d.
(.,r) t"Lr ("r) r'tel.?r (s) 3g"t
_is a Primary Group.
(a) Urban (b) Co ege (c) F.amity)

3

4

5 7

Seat No. :



9/A.RTs,PMD

3)

4)

s)

(u) qltsr (r,t) e&.a

_indicates the duties.

(a) tule G) Status

B d.ri dil. (Match th colum A and colum B
1 tttr%tu.a.

Sociolosr

2 arLmurt tl 6qor+

Emergenc€ ofsociolory
3 hlt<t orl"tllds hktr

Defi nite Geographical Area
4 eterer{ {rr.tL ol ,t1r)

Two Iabours drogging the handcart

5 r,rl{a€i9,%ri,{ttoror

Factor of Status

6 6r+ttqr
Secondary Group

7 qanl u'l [iLar

Reward and Punishmsnt

i q.f.trL t'{is tJ r}
(ut) rtLutts rrtrel (ot) qt\rL (s) eltd
_=---is the measurcment of norm.
(a) Social norm (b) Role (c) Stafus
aLrtltg B{t-tI qr(i. .................. t{rr.nLLdlri uuui.
(u) tui-+t.t (or) {&t{qr (+) Xd
.........-.-.-.-- Sociologist has given the concept of Social acdon
(a) Johnson (b) Maxweber (c) Colley

n.{Lzluatr [\at d.
(,,t ) utloL"e ("t) eHer (s) 61

is father of Sociology.
(a) August (b) Durkhirn (c) Colley

6) +r,rftr qhc {r qrcr.ti 5J d.
(u) qh$ u$,{.u (,,t) altd (s) uqt
__- --- is known as the excution ofsocial norms.
(a) Conformity (b) Sratus (c) Comptition

7) setl.i h{rt r{ 0.
(s) e3s

(c) Right

I iAz
College

2 nusLr.0 uiafg..rL

Co-Operative intraction

3 ldrr

Sex

4 +Lrrtrltg [iatL.t

Social Science

5 t'[ret u13'1ar

Confoormity

6 Xri,r
Europe

7 n3al
community

7



B.A. Sem.-I
Dec. 2016 seat No : 

-Eclective - 2
Psychology of Personal Adjustment

Time : 3 Hours [Max. Marks : 70]

a+-u (t) qqL s \ai trurLct r!. (r) aU ratt 1,n rr1 d.

I {q[}as r.urtzt.u .tt[{iur.t{ rL.Ida uoa rd. 14

i,{ras +uds-r-u ,Lt'LRnL-t-i.r .o*,o+ o}ullt", *",".ot.
2 qllQu*r r4+ rrai,{,3r-il u3[Rr,ti lelei. 14

r'tqcl
t{Ids u'l tiq.[t-{l u.rLe rr3Giul ns\zia \%rq'r.

3 3g.L dzd E ? $.Lu rt,{ &"e rd. 14
r,iEctl

lior os-r-{l l{RLoe n+urtl q,"Lrql.

4 trsu d6.t{l-t r,t1er< .t{} ,r.rl. 14

uur.L ir,trqlzttl RLers hqLsll tqqri ,tn*tl]oi.
5 (A) u.u uiaL 07

(l) +aLad).t1 at3or+ d ri.iutrt u.ttlrlztj ds e1ft,tt 0.
(2) ui uL.r{ ut-t ulzd ll<rrqLr
(3) 3gct'tt 1'"r 'rLt 113tt d.
(4) &Lets'tL 1''"+ 'ti.'l rgtd t9.

(5) gtil cto-t oc-t rr) t[a,r +ia1n "41{ r}.
(6) u3R.rLa1 ui.r+tuL-tj ntt4lt {q[&ts ttqlzr-u rr'll.lsuttt rLrIda,r[ rt.u,ri

a,tt.r.t'[ .tt{|.

(7) cisru0 ot{ eqi r+rrr+ d qrqrtt qI.,{ [istu .u) u1{ d.
(B) ,rl.,r hrcr \rie 3{. 3rt? ,,1\t. 07

( I ) "a.r"r {i+i ris Sgot r} 4r ,{tutl d d: [\.ut] uRqa d ." ur "u,{ rle1 lat'{l ?

(u) si.urrqet-t (q) {lt6'.rl
(.2) -ttq.tt*dr{l ai.tiqqe a{rqi%{{ q.rcr{ (Ercr sg r} ?

(u) qretli.,-iaqr (ot) z+rora{lj ,tL.r

(3) r'iu.r<{l-{l ua[3 6a.r-tsr .......... q!uq. rlt]r uLt{ d.
(u) uiiqq (q) [?qLi.t t

(4) u[it+at ri ................ otu+ rr3lir dr.

(q) eirrd,+r (q) qLr"tE

(5) 'u,u N*td qrqs ral i.u "t-t{ zltld ?

(or) {Ar-tRra (q) .utnLr0
(6) !4r13r13 ),rG{r?r ,?ct.{l qtqlAral.ti .......... u.Lrifl qal -14.

(.{) 11,1,r.{ar (q) "r[ir.te ti,ra<r

(7) ula [irarcr{l ............ ttul rzga oti t].
(u) trrcr ("t) t4t'rr,:t



?

4

5

B.A. Sem.-I seat No. :

Dec.20l6
Eclective - 2

Psychology of Personal Adjustment
Time : 3 Hours [Max. Marks : 70]

Explain the fields ofPsychologr' ofPersonal Adjustnent. 14

OR
Irnpofiance ofthe study ofpsychologr of Persona.l Adjustuient
Desdibe the techniques of Ralionalisatioo altd Projection. l4

OR
Exptain with illusuatioDs the defeDc€ mechanism ofregression and withdrawal.
W}at is family? Describe the functions offamily. 14

OR
Explain special problems in family life.
Discuss " School" as a new experience. 14

OR
Explain the impo(ance ofteacher student rslationship on the school adjustsnent.
(A) True OrFalse 07

1 . Experience of security is orc of the chaiacterises of salisfaEtory adjustn€lt.
2. Nightdream is day dreaming.
3. There are main four types of family.
4. There are main five types ofteacher.
5. Sexua.l satisfaction is needs happy marriage life.
6. There is no inclusion of need and frustration in the scop€ ofpsychologt of

Pelsonal Adjustment.
7. Demoqatic atmosphere ofthe family is helpful for the Foper development of

the children.
(B) Multiple choice. 07

l. " The whole world is a family , a nes and has one father' who gave rhis definition ?
(a) Maclver (b) Dr. Radhalaishnan

2.What is the chiefcharacteristic ofsatisfactory adjustnent ?

(a) self-control (b) Responsibility
3- Examplo of " Shekhchalli's " story shows ....,................defence mechanism.

(a) Ploj€ction @) Day- dreaming
4.The compensation is ...............mechanism.

(a) Blame Assigning (b) Attack
5. What g?e of anitude parents should have towards their child ?

(a) Sensitive (b) Diclatorship
6...............,.,is not included in the methods effective learning.

(a) Time table (b) lndividuat differences.
7....................becomes very stong by over leaning.

(a) Memory (b) obliviol.

I



I

2

3

B.A. Sem.-I
Dec.20l6

Time : 3 Hours

{++ (r) otqr t ral t1gr,ua d.
(r) eL ra-{l r.rdl qtg aL[{<L r,is ,lu go iler aLR r}.

rrretS{l 11. fEetL.r{ a+"{rrAl +qI.

nuryee{l .t lqaL.t r,t,l. trrtzrLLa. o,ffiq.,.1mql
+tqLlts rraq{Igtqr he] ,uD.[ urd.

r{qqt
t{I.t - ur[4s ii]a't hrl qc{{ sd.
ntLm[dt3ut qtltd r+{ 6aurer uE {.rmq'[.

uslqt
,a15a{t ?ruj cd{ +.t%rql.
*t{{etLlir qu-[I .,+"+Ld uI.

4elqt

"(s{ ds6{-rl uef q.l uqloL nrrmql.
-0{.tL lal.tL rig qLrq{ %qrq r4rql.

l) uia{+r+ nsrd wuql.
2) ledrLruad u{ <lul.
3) nLaLltr \Rfttld:i Gaslet {tq't.
4) uiarfuGrs r,tnd rrstql.
5) lae{lrr+-0 .r+r",t uLt.
6) t tl-t - tLL[4.s ?,i].rl.tl 6cd,{ rr).
7) itL.tL[tr rcr{lsreqi dt qag zquql.
8) ,tequ +$ dzel $ ?

9) ru ,u) e[sl .rEs sku .tr{I ? ds Gaeret utul.
l0) 1r-u oeteittl 6c<l"r sd.
I l) titet).{l c4ti,{r ?,u{.
12) trherl-u nsLd zeucl.
13) hrer.t c.['t daA g ?

14) le{Ar.t qd't{ wLd ryettqI.

Seat No. :

[Max. Marks : 70]

t4

14

t4

t4

14

4

5

SocialPsychology (EC-102)



Seat No. :

B. A. Sem.-I
Dec.20l6

BAO0E l0l : Psychology (EC)
Time : 3 Hours [Max. Marks :70]

t4

t4

l4

t4

W'tt (r) qqL s rrt trft,{La d.
(r) slg ra-[ .r,te[t ,,tLg eirl{etL dr i.u 3o clct art{ d.

l . .t t'[RaL.t {I au.urL,ai qclql.

4{q.
.t {Rer+-[I 3w rLt"ur,i la[.
iuud ur{ u'i o!q-0 izcu itr%rq}.

lte{q
mdl{d ui ,tLqa.{I r3R+ta +rmcl.
qr{ot g?'.tlr rrar }r.ad {ii qrlgr{I r'u'l.

r,t4{
qr{"Lreg r,t[dt"rQr.[ q.{[ gd.

ergoc{l uR,,tol +t.+rnd.

u{(u
n<qdltret uci ?r{%rql.

{ 4rl.ti l+trL-tl ttqi t} } "izi ti s':uqi.
l) ,r-tlReu.r uLellu'[.rl 4e{rr il d.
2) +utslLLn 't tllEerL-t {l urttL d.
3) 'ttiRntt hgtt.t r).
4) a1l,t ,tt.tRr qQ,ua t).
5) {dct .{.[.r 6qr rur r{ r}.
6) tn-[ t ru.t 6\r uur qrrr d.
7) lereflruL iu.i d,r d.

ot .[{tu nalu r,ls q6.r{ z"utt uLt.
l) ,ttllqet.t.{l rlu ds q.4 c{u{r u,!ucl.

2) i?rr kla.i 6caq -?I.
3) rrql\s ]ir,!ud qd l*rd.
4) +t.tL[gs r)*u.u rrsrd mrql.
5) r{L{ot.{i ,rrt',r{t uuri.
6) t4t t {I our,,-1 I'1.,i.

7) Lqqflsrettt trasl zeuql.

2.

3

4

75

7



Seat No.

B.A. Sem.-I
Dec, 2016

BAOOE 101 : Phycholory @C)
[Max. Marks :70]

Note : Figures to the right indicate full marks.

I

2.

3

Time : 3 Hours

Describe the dcfinition of Psychotogy.

OR

Dscuss main branches of Psychology.

Explain meaning of motivuion and hunger motivation.

OR

Explain sexual and mutranal motivation.

Give information about changes during emotion.

OR

Explain emotional expression.

Explain objective factors.

OR

Discuss meaning of percaption.

(A) Following sentences are lrue or fals€.

l. Psychologr studys animal.

2. Sociolory is branch ofPsychology.

3. Psychology is science.

4. Hunger is mental need.

5. Emotion effects on behaviour.

6. Intrest Effects on attentation.

7. Perception is good.

@) Answer following questions in one sentence.

l. Mention any one old definition ofPsychologr.

2. Mention the methods ofmotivation masurement,

3. Give the meaning of ;rrimary motivation.

4. Mention types ofsocial motivation.

5. (iive definition ofEmotion.

6. cive delination ofattentation.

7. Mention factors ofperception.

t,1

t4

t4

t44

'l

7

5.



48/AR|S PMI)

Seat No

Time : 3 Hours
{ot'u (i) qqr z l+1 +ru+rt r}.

(r) eU la'tt rr{t oug ad{er aU i.u 3e 1eL aLt{ t}.
r n{ze.dl rr-rlhsu.r.{l <t'"u ul[' tj uiu nrrzt r'r.

u.qq.t
mradl .r.tlh+L-tj srdda RotrtqLr e" .

r. l.ttrLrfQ.s Rli.rrr-ti uat'tl n,+qnql.

r4qqt

leuducttr Raiol hcLacLr eul.
s. saJari qre rrqr. tir[,{ {'t%r.rl.

[Max. Marks : 70]

1X

Y

u

r4qqt

aisi rL. ) rL€. si d ?

1tr'ii qllqrl-tl ur{ uLr{I, 1er-ri tt4itj +qrr rtmat.

h,{R{a q.[ttr s]6qsL 61 rstd qq[q!.

u) qlo,{ [A-re{ q{e r{. "uc{l tc,u \d.
r) a'tLrcre{l .Ltlhsut ............. ti:tL.l r}. (qt.[Frs, euR{r)
r) "l ] te{I rg <Gtui "ra,I * qr+,n lau-lla,E +L etLq .l:i ............ sJqrri

+u{ 0. (rtt+u, +Llarl},u)
.e) ,,lr-t r,r.1 qLq-{-tL.ti +tttrae{l rril-tsur-{I 3",.1 .......... ur.qr+ q,a[i.r,ri

d. (aeL, .{i1)
y) Ft uL[4s ri]ali r,r'tqqqL tL) slu -{l qr tsdl tr{I.

Qotfiu,4a)
3lrsrafu :leud\$-tl lfula ................t qLu+l t]. (Jder]<{I, qla+-r)
+rer+ uXrr+tl t{aia ti-+ r,ri lhd 6a.........xi. }uut. (re.e,{, rct\)
qajoltd{ ..............tl airr el,l d. (q{qstr, rcL,I)
............... ri o\ ] isll qr{..{hi,t d.r d. (1r, DLsIer)
,rL{{l d .............. urel d. (r,Lrleil , aL\ttg)

) 1*tL trheni ....... d,{ r}. (qaoLz, r,uqrRa)

\)
q)

e)
z)
c)
to
t1) qr-tL u+tda uheitr{l tnta q.{.t ded ............. (e,r1iqar, Rqa-r)
1r) aoftr 6.ti sL.tttl dor sr<ei ...........-. si.qr.{L {ta. t}. (t u,r"gicur, +rold:La)
13) eqr ] RB.nt l{<R-u \ 'u) }{ qaql dqr4. ii ............- sJ r}.

(o.Ln-t, )q)
qx) FtltLt4s {}aI dtu qar qdt.u) qquq r}. (llgr euqt, $i+r orq.r)

B.A. Sem.-I
Dec. 2016

SOCIAL PSYCHOLOGY C C 102

ilu%esfl ]r-ilr.I$rLt



Seat No

B.A. Sem.-I
Dec.2016

PSYCHOLOGY C C 102

Time : 3 Hours [Max. Nlarks : 70]

Explair the definition of Social Psychology and its natue.

OR
Write on field of Social Psychology in detail.
Explain medium of non-verbal commurliaation.

OR

Write theor) of attribution in detail.

Explain decision to he$ in emergency.

OR
Why do some people help ?

Give the meaning of group norms and exp lain the nature of group norms

OR
Describe any two types of deviancy behaviour.

Fill in the blanks using appropriate option.

I. Social psychology is a science, (behavioural. physical)
2. Action-reactiol in between t'evo or more people it,s could_

(process, lnteraction)
Main theory of study is Social Psychology is

(tkee, five)
by Baron and Byme

Language ofnon-verbal cues required no (interpreter, machine)

The theory of Casual attributions is given by (Herald Keli. Watson)

I

2

4

j

4

5

6 A.D.

'/.

8.

9.

l0
11

12

13

Theory ofcorrespondent interface is given by Joh$ and Devis in
(1975, r965)

Empathy is the part of_ (altruism, selhsh)
Two or more peoples are in (group, triangle)
Man is a animal (Economic, social)

is in group norms. (Liberty. Dependent)

Different behaviour prevailing the famous grcup no(ns means

(conformiry deviancy)

Crime done by sixteen or eighteen years is counted as

(uvenile delinquency, Juvenile development)
Drugs taken for except medicine - clinical is called

(addiction, habit)

Behaviour done by non-verbal cues is used for word
(body language, French laaguage.)

l4
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Tim

B.A. Sem.-I
Dec. 2016

PSYCHOLOGY C C 101

Basic Psychology Process

e : 3 Hours
(t) qqr z uai +lQ'qLa r].
(r) eL la-tl rtetl cLtg arlioL ds .hL 3a 1eL uL[{ tl.

r.tlhs1-t-{I orL.,qrut'[ uLr{t ,1.[ n,t1.{I ULt.
r,telq[

r{lquL-t {l qr,"u qM ,lti alq't qrlql.
qte[tl ueI t 11,.0 xrr{h, itglr{l qqI.

r,tel(u

tl+$ {zcl g ? irerLrrt [t rrXrl uLu[.
Ut{ot.{l .rrL"qr utLt{i, utL{"1:i rqarr rr.rl.

qqcu
qL{ct r,tlntcqfir.{I hRtr {al e"[.
tetiiL her[qr \[t6tut 11l,i.

qerq.I

ltc{S{lr1,cr.{l o+"ort Ut,{I ,1.{I t.tqdl ULUI.

rt) q'tcrr hsq ,{rig i{ qrdl 11o.n 3d.
1) itr d ............. ur{"r t}. (erLues, tarrers)
r) q.'t, a*t ui mdlqat ............ a{} ulur"u,+ d.

Seat No. :

[Max. Marks : 70]

1Y

17

TY

uq-u

1

3

:,

c\

)

)

)

)

)

)

)

3

Y

\
q

I
(
c

(.t-tl{irLhg zpll+1.t, uul\-s rgR u.t)
.t-rlRtu-r-[I lrrt ldctrLLrru-{I rru,-Lu u.+t...........1i q6 sd]. (izec, rco\)
.tftt"r.u .ti"rl:l,tL.rt dru s+uli r{r{ d. (u.{I.o., u.u.@)
rls-{I i4u r,iol.r] urqi[5Lt uc,,rLa { s,{ d. (,id-I, creld)
+.{,i$ruRid ,t%zlda .............. r,rLcr'l.ri .lJqr{!i d. (4, qiq)
.rtlh$rt d tI r,to.+Ln sl d. (uLctL, c.h)
Psychology dts au\r.u ............... t6d rlrs{l 6d{ r,uorL &. (aqr, oI)

............ urt-rj qtc{€rail qRqq d. (hnr..L.u, utdq.ll)
uqlc.l %ist[ %lsl.

1) uneu tL, ria

i ) lrqn 'ltor{rruu

g) 
"rLeSItL 

q.r[t i r,ro.X+t

Y) ur{"1
q) @.dtt.r,tR.

1) r{rit
1) 6qor'rs.1L{-iRsrL-r

3) 'Idl"rrix) .q,rL u.rdq rlal${L
q) le'{H.L SR+HZI



Seat No. :

B.A. Sem.-I @ec. 2016)

BAO0C 101 : Eistory of Ancietrt India

(Up to 323 B.C.)

Time : 3 Hours Max. Marks : 70

ur.tt (1) qttl Qt rtti $isrr{d t}.
(r) eU ra'[ r.tdl oug €,lr[{ar dr .l-tL ga :}$ erd{ 0.

ru.llt otra't-tl rrRdr zl qr r{rhl arBf&r ruq-i-{l qrr[ sd
Dicuss the litrvary instruments to know the ancie IndianHistory.

144qt

our"t-{l o orlf4r <lrft[qgdrql Rrl {[&0 +ql.
Give Informatiom about main features ofGeography

I

2 r,su{l r riqlitL tr,{ ldrl itrtl 3d..
Discuss about the religion ofHarappan civilization

r4qqr

{s:rdlq {ug srq-r htl qq[ rd.
Discuss the Social life of the vedic age

rcrdh *.r.[ n.uz Stuu a{} qql sd.

Discuss Mahavir Swami as Social Reformer

ou?Jt \+u t {-[l uu+tsrl-ft .uRil] uFi.
Give the Information about Irani invasion in India

u4qt

lsdtr <r"tl. Write Short notes on.
l) "rl,rq 

ga Gautam Buddha
2) ql.t.t 5a-i 6tht Preccohings ofGautam Buddha

A ,tr,r GJe{ {rt€ r{ w<{I rr+r yd.
Fill in the blanks.

I ) qlqq lr{.t.u .............. ltcal{i i,u{g 0.
(,,t) uraqtg (or) oti,l
Lothal comes under ............. distvrct of Gujfiat.
(A) Ahmedabad @) Bharuch

t4

t+

4 t4

5 7

2) "r1,r{ 5.ej lut .tl.t
(tr) qtl,tr.t

Gautam Buddha
(A) Vardhman

............ si.
(q) ReLtI

's Original name was..........
(B) Siddharth

{asfor atlgal Rtt rLlexl out..
Give details about the literature ofthe Vedic age.

i'lq(u

t4

3



3) .tIJ - d - *1 .......... .t0.u t!-ul utllj t}.
(r'r) u.{I (q) t{g

Mohen-jo-daro is situated on the bank ofthe river
(A)Ravi (B) Sindhu

4) *.t tr.f+r rr+qs .......... r).
(+) .t1ct Eu (q) qetdlt lqr'{l
The founder ofjain religion ............
(A) Gautam Buddha (B) Mahavir Swami

5) Qele{I.t tqli{ nlril rur{l,t ie rl)

6)

7) 6 c q{.trBu\3
(u) .tur{h +qr'{t

dc dg .1C.r+i rtl zq1q r{t,i.
Give the Answer one Sentent€s.
l) {r,aer-u 1irf{at sl$ e(tt ?

2)

3)

4)

5)

6)

(ur) *r"{e (q) u.t{e
The most ancient veda ofthe vedic civilizationis
(A) Rigveda (B) Samved

01e2s............... q.[-rl cier d.

(.,t) t-t (q) 
"t<

'Tripitak' are the religious books of.........
(A) Jahism @) Buddhism

.. r).
(oL) 

"rlcrL 
gr,t1

The founder ofBoudh religion ..........
(A) Mahavir Swami (B) Gautam Buddha

B
7

7)

Who is the Author of the Ramayans ?
r{ro{r?rt{r tqlq del ddt ?

Who is the Author of the Mahabharat ?
{d.tt +t[4at rl,lr crrt ?

Who is the Author of the Ved ?
.ut {€,-tt -ttrt eQ.
Mention the name of four Veda,s.
*r q.'{+ tqr tirlsqi ,u'r { d ?

Who was the first 'Tirthankar' of Jainism
qltq c.i-u 61 ixaql{l {\ e\).
Mention the two name,s of the sect of Boudh Religion
t list{ 5le[qr{r Ur,q rrrtrd 34r r} ?

Which are the main Instrument to know the History.



SeatNo.:
B.A. Sem.-I
Dec.2016

History C C 102 (ury[it [d.+t.ti u[iteLa)
Time : 3 Hours [Max. Marks : 70]

1

?

Y

q

.1q tc1[A ,]e.i lj ? i.tL aaerl qqf st).
4ECIL

a'{4utzeu a* a rti \R6t"1l ul qaz) qsfql.

cl c rl fa g t Li t1r't l q I L t t zp tl,1 g I ql.

4elql
q*i-e-cu,tt ui tieiaaj oticti[d-s ti2[i,,t-ri,.i \a.1 2tt"ttci.
iJ"ti-t{ ua[d{t-t 4[r1.tL ttzstl a-l ua<) awntqL.

4qqL

$tu \?3ti ,1ea a[aHL?. almql.
t.asao<4 ,a{fur{ a[i-tL stzstl m'Lrql.

2,!elqL

uifu.t tik-tL .laLa'tl d{L tluqet 4s -lat{ aR*l.R .tlltt aql.
,ttoq acLd aql.

zlsti tlsl.
h ) 6.atcEo

1Y

1Y

1Y

1Y

3

h)
(z )
(a )
(v)
(u)
(<)
(e)

(z)
(d)
(r)
(u)

k)
(e)

k)
G)
(u)
(E )
(e)

l!fl 1eq ?rA

u.a. Lea\
tJ.?t. x <zo
6.A. 1e0q,

6.11. 10a3

u.a. 1ez z

!icd-t4 si?
*.a o{lw.ti zttLBtQt
ol"tl?tt *'ltt"tlql
aL6-*l-l-tL gL,ltL

tqia u{P*-t qazpt

AauL! mJz-tt!
laifu-t titd

q) \Ldl,{",1t l?).(t) 4 tl-i[]-tluaj uat q.
(t.t.tve z, $.2r.lY\a, u.a.tYat)

(e) il)-,.,tii,1i,1.{) aitl qrd tutq!!.........ut7 ixt ayl.
(aLuua, 1u[u.u 4fl]qri, 3J{r}.i,)
,ttsfulal .......... dn.d aiuAt rr&r sal. (di,,llt"La, teKl)
aeL lA uq R[d,tt ....... *n[ qztar eat. (gia, w,{.{], dc)-s)
u4AsLQ alq ......... r1 slc{]. (qLzsi-e-"u,1t, ttt[rtlai, tleit4a)
aw<tfft 3wi ..............ti uztm elr.l eal. (+ia, iJ"d-s, tt4 st)
anaali .t {.t e \Hi ol\idl !2-tL2 ................ eal.
( ad, tttd4az, al ! flt,ti )



Seat No.

B.A. Sem.-I
Dec.2016

History C C 102
Time : 3 Hours [Max. Marks : 70]

s'hat isthe meaning ofRenaissance ? Discuss trre various reasons ofRenaissancc 14

2

4

OR
Mention the factors and results leading towards the religious reformalion.
Describe rhe reasons ofrhe Geographical inventioru.

OR
Mention the contribution of the Geographical inventions of Vasco_da_Gama.
Explain the reasons and results ofthe bloodless revolution of Englaad.

OR
Discuss in detail the importance ofthe Bill of Rights.
State the reasons oftheAmerican revolution of 1776 A.D.

OR
Write a detailed note on one of the leaders ofAmerica.'
Do as directed.
(A) Match the fotlowing.

(A)
1967 A.D.
156 and l6d Centuries
1685A.D.
1687A.D.
t7'7 6 A.D.
1783 A.D.
1688A.D.

14

14

1.1

1

(l)
(2)
(3)
(4)
(s)
(6)
(7)

couDlr_vMarcopolo was the adl/entrlous sailor of
(SpairL Portugal, Italy)

Queen Mary and William were living in
(Fraace,Germany, Holand)

(B) Fill in the btaoks

1)

2)

3)

1)

s)
6)

In_._--yearthe fall of Constantinople occurred. (1492, 1453, l49g)
Irasamushas written_book for making firn oipopet book.

(Bible, The Praise ofFooly, Decameron)

countrv_

1)

inventedAmerica. (Vasco-da-Gama, Marco polo, America)
lost Seven Years War. (France, England, America)
tsanslated theBible into German language.

(Dante, Martin Luthel Bocashiyo )

(B)
Revolution ofEngland.
Coronation ofJames-ll
Geographical inventions.
To\arrshend'sAct.
Free Ame can Constitution.
Public Notice of Gererosity.
American Rwolution.

(A)
(B)
(c)
(D)
(E)
(F)
(G)



Seat No. :

B.A. Sem.-t
Dec. 2016

History E C 101

url{}t c.rLsd-rl uldeLu (u.tt.r$ Brs U{I)
Time : 3 Hours [Max. Marks : 70]

n++t (r) 6tt{t z qnl tto{ta &.
(a) eL qa-0 ztell r'ug etli.cu r,ir ,i.u 3a 3,r att{ t}.

r. u{lt orLra. 6[iur tr*r<r.u] yu.tal.{l{ rurtc.{I qi aL[ts[A: +rtr..t'i.u uJcre.j u{rt+ sd. rr
uttlc{l

ourrt {l qt\ re+rj .rtlft s{ qq[qret hrl tllr a.{.
1. gsut{ rir{[d.u itLttltr sq.r hrl qql sd. 1r

r4etqt

u3u{I{ +i+t[i.t .roR qtqlzt qr qq{ sd.
3. ould rtt ri o{ls 1,rLs'r,rit-{l r,ur} "rutd. lx

uq<{t

{tlr 3c14 q,61 .r{qrelt [4ri 1.a[ td.
x. .terdlr. rat {lj n{ru Uuu a{} 1c.tis.t sd. lx

{q(rt
ri.t1t 3cj it'ut 3er* .t{} lc.rirt rd.

tt. .tioqt rrqd er,tl.
(ra) dsri tLl. x

(t ) tJ-d-esl
(1) i"tsl
(e) qlqa
(x) sreniot

r)
(r)
(e)
(Y)

altt.rut.aq
r,{I.r,{l.ere

t"uaa{ A'irs
d.r.tn.q..*r

t). (r,tqd{e, *r.ie, tt{r.)
. tt@t ti ut{g d. (4\acr€,, g?'r, ?,tci€)

(q) Rcr-r "r* d i u13 ,l zrLrd.
(r) sn{4R.r.rL cl"ts i,IqrGrE ddt.
(r) oi.<t{g,e 

'{rcLO 
ouqL{i 6uL$ raLql dd.

(s) r4uLtl Rtcrrcl..r nturrlti sld?r.ri i{rail di[.
(y) esu{h ri+1h.{l rq{qi ltt'uo[ ee 1a 'rd,ru cnu.
(q) *{ t{.['u qiq llsial oLitllcnt uu.u q'r.u hcid ,,r.ar.

(r) 
'u<{I z"u ,1d.

(r) r.i{l:rp{l-t {r
(r) ctirrct "lzuarL

\

\

(e) dBr 3cr1i..........,,,,n1 rt-u{ haoiltl i\tl.ti Gqqlir qal ertl. (areit&, hls,,{er)(v) h[\zs .................. tr'[.t ciq d. (C.t, qla,ls*)
(u) rr'lJ-d-e3l .................. hLti ur{( d. (oLrr.r, \rBkttt, qioqLhr)



I

Seat No

B.A. Sem.-I
Dec.20l6

History EC I0l
Time : 3 Hours [Max. Marks : 70]

Examine the archeologically material ard literaD, sources to know the Ancient Indian
History.

OR

Describe the .lndian geogaphy and *ritc a nole on the environment.
Discuss the Social life ofllarrapan civilization.

OR
Discuss the tow,n planning of Hamapan civilization.
Mcntion the effects ofGreek invasions.

oR
Discuss the Financial Svstem ofVedic Age.
Evaluate Mahavir Swami us a social reformer.

OR
Evaluate Gautam Buddtra as a sociirl reformer
Do as direcled.

(A) Match the lbllowing.
(A) (B)

(1) Mohan-jo-Daro (A) S.R. Rao

(2) R.ngpur (B) B. B. Lal
(3) Lolhal (C) Rakhaleas Baredee
(4) Kali Banga (D) M. S. Vasra

(B) True or False.

l) The author ofHarshcharit was Barbhalt.
2) Gaulam Buddha Preached in the Maghadhi language.

3) The inscription oiAshokas was inscribed in Samath.

4) The main roods wcre 33 feet wide in the town plaming Harappan civilization.
5) 'Ihe five prinoiples ofJain religious became the founding principles of

the life ot Gandhiji.

I.t

t4

1.1

l4

(C) Fillin the Blanks
l) Vedas is the oldest ved. (Rig Veda, Atharva Ved4 Sam Veda)
2) In _ __ district l4thal is situated. ( Ahmedabad, Suat, Anand)
3) name ofcurrency coins were used in Vedic Age.

(Chanothi, Niksha, Pan)

4) Tripirak is the book of_ religion (Jain, Buddha, Hindu)
5) Mohen-.io-Daro is situated in

2

I

-)

4

5

)

(lndia, Pakistan. Bangladesh)
country

3



Seat No. :

B.A. Sem.-I
Dec.20l6

History EC 102

urg[is l.lat1 ulAett
Time : 3 Hours [Max. Marks : 70]

qrtL (t) orqr "r qaj iaurL.t d.
(r) eis ra-tl'rtelt otig ttLl{ar .,is a-u 3a clcL at[;t d.

I -t+tt1Gt-rl ur{ "r,t,r'41, .i.iw1li-Li sLrcti.{e[ql

l,trt4t

t [4trreLLd uRerL.tt +e[+1.

2 o [: hs rLtq"ti.qiiL rtrqrl-{l {q[ rd.
14llc{t

orli lal eiq"itt.ti R*21+t rlciqu ui urlulctlj la.t a"t).

3 riJ. 1688 -tl 6"cl-s-{l l{[A{L re.q{ stlei %ettq[.

1,1?tqt

u.a.re.zz-{l u.th0t aR,-{l lqau ?rt'{ 6itrL1ct 6,{r'{l r,{{,i %,}tql.

4 u{fut rqtct:r il.tpr-u srtqt}-{l qqf rt.
qqql

q{fut a[i-tL iarr,tl a{I} tid qiniiz+ +ti 4.2t,{l.r }-r<{ltj tra't uLclui.

5 (A) a$ti sqL,{ ("t1.

(l) Rqr{-t s[{J[-u r.ti:br u.tt ?

(2) "jt"rt{+-ri htt sill etltal ?

(3) dr{ rt-e .'{tz{ Lqct qLrr.rt rt) rid '.tt'{ h.iq{ qhetul' q,rr. qt0 {,{I ?

(4) .t-rtq sist eal ?

(5) 'tthrltt um'rl{ ti.rL'ti t'ttd t} ?

(6) 6.cl-.s.ll 'ue[{-iz.ti s,{t oI q{) u.tL ?

(7) u{fu1'tt l.tct't atqtl3"t rleL urt ?

@) "isri ds1.

(l) ri-*[:a-rNaj u.Lt (a) tJ3. 1453

(2) a{Dl .,is-{l riltr (b) tJ3. 1492

(3) zr6{{-3.tt 6t,{6t (c) tJa. 1773

(4) q[+et-Zl-qtfl-ti qitq (d) tJ. - 1 767

(5) uct? d3? (e) ij.rt. 1688

(6) xer:i 6a?drj mJr.ui (0 u.tt. 1764

(7) 6"c1-s-tl uatid[-t aR (g) 6.n. 1687

14

l4

14

l4

o7

07



Seat No. :

B.A. Sem.-I
Dec.2016

History EC 102
History & Morden World

Time : 3 Hours
[Max. Marks : 70]

l. Give the meaning ofRenaissance and clescribe reason ofit. U
OR

Describe the rcsult ofthe Reformation.

2. Discuss the factor ofthe Geographic discoveries. 
14

OR
Describe the contribution Chiistopher Columbus ard Marko polo io Geographical Discovedes.3. Enumerate the important causes ofrcvolution ofEnglaad in 16gg A.D. 14

OR
State eff-ects ofBloodless revolution of l6ggA.D..England on state constirution.

4. Discuss the responsible factor for the American war oflmpendence. 14

OR
Narrate the contribution ofGeorge lVasllington and Benjamin Franklin as Leaders of
Aaedcan revolution.

(A) Answer in short

1. Who was rhe author ofDivine Comedy ?

2. \!1o discovered the Law of Grayitation ?

3. Wlro published the pardon- letters to construct saiot peter,s church in Rome ?4. Who was man math?

5. Who is called.the king ofNavigators ?

6- mich were the t\r,.o parties in tbe parliament of Engtand ?
7. Who was the fi.st president ofAmedca ?

@) Join the Pairs
1

2.

3.

4.

5.

6.

'7.

Decline of Constantinople

Invention of American continent

Law ofTaunsand

locident of BostoD tea party

Sugar Act.

Declaration of fi rst Indulgence

Bloodless revolution of England

B

(a) 14s3 A.D

(a)i492A.D.

(c)1773 A.D.

(d) 1967 A.D

(e) 1688 A.D
(D 1764 A.D.

(g)1687 A.D.



B.A. Sem.-I
Dec. 2016

Elective-2 HISTORY
(1688 A.D. to 1917 A.D.)

Time : 3 Hours

{r,l''tt: 6tlu "a la'[ *rgu.t d.

I tJR.l688 -0 6"rl-s-tl *ctRJI.t ittr-ri stretl %Buql.

q{ltr.t dld.{l 4ud "rerql. 
l{{ql

2 u.n.1789 -tl t{-n-{I cifa{i sLr,$ eQ.

[Max. Marks : 70]

t4

t4

Seal No. : _

14

r{qqt
r,itrlDrs siR rlaa { ? talqltsr dld-u srli]rl arlql.

3 qlqt[tu sild-{l rr+d ntflql.
r{elql

rjx.l911-{l {l-t-ll sititni srtci a.ri.
4 rJr.l9l7 -tl rfir,r-t dlir'ti uRot,rl{ utau-t rd.

4qqt

ir-tltr crut. (cr,i ,t oi)

(l) sr6-it "r{t
(2) u{Rrt dlritl stretl
(3) $i-{6itilri'{ncr*i
(4) rfit,rt d{ir-tl u+uI

5 (A) Rtu-r 'rt d ] 'r'13 
q.,tl.

(l) am *tlt 6{ld }qltiu c.,rl.

(2) u{fur u;I ri-0 +ur t acrN: gur't u,rL.

(3) r*t,+-u tlq qU 15 .ud oituarL uai.
(4) u{R-tt.u utrr u3u wi"J <[r-i.z-r uar.

(5) talli'ar*u[zs sul']?.r, (-l d.i.
(6) ,aiqltlts liR.tl rLsrtta z.[-{ld[ ru.
(7) rDr,u*d 'eilBluut {l.ul rI ,,r-tL.r flqt r'i {-r.{l qrcl.u-{l lruL orilel

(B) ri.ssi ztl'i.
Rourt - "r,t"

tJcd-3{ oaidrj ru}ut
u ret-n-qtJltl nt-uq

tlsLqtttt gt,{a

+i-q-{I dta
ditqr-{I siR

{irqF%rqr-r gd
greuJ+

(l)
(2)
(3)
(4)
(5)
(6)
(7)

(l)
(2)
(3)
(4)
(5)
(6)
(7)

14

07

07
Glou.t "ot"
6.n. l917
rJ.r. 1904-05
6.rt. I 789
rJ.n. l65l
rJ.r. 1773
u.?r. 1687

3J[eru



{il'tl

Seat No.
B.A. (Home Science) Sem.-I

Dec.2016
BAEC-2 (f 0f ) : Introduction to Human Development

Time : 3 Hours

(r) qu r q,ii lft{ra d.
(r) rL qa{ z,t[t oLrg ar[.IctL dr ritL 3a 1eL ari{ t}.

.1[d u:i hrtur trLtL-,r Qr,ai.tl hr'l [tri.Lrreil cLurl.

r,tt{clt

qr-t.r [SlLari ,,qrcr ,,t;i ,i-{I "r3[irL.t Rrl crul.
qrr.r lisL+tu h[ita aqgr,ti a,..{I s'ld : hd til.urcil er',d.

r{etqt

Z*r qJat{ a't,rctrqr-rl 1[rX Rltt.a,l i-u,rt r,tttr s1rd,{Rorql e"[.
(0-2) .d-u ctLuLEItI ur.lcLr..rt u.l ou.u-tL RrLa htl hrdLrell e"rl.

qqq[
(0-2) r,{tL,,uttrlt Rtntti 6toil rrdl t}ur,Ll [irl q"ri.

[Qri crqt.
(q) qqL{ o{l-{l sr.{l
(q) .tU q'r({

r4E<tl

d"L r asru artit daa g ? du qsri [\ei euii.
qLe{l sc,rL yl).
I 1th ui hsru qr .............. r4r? 5kti. q{qq. d. (citqtL urqtl, ouqr)

2 ,tL{.r hau-rl r-r ..............,.t1) 6lrrq1"[ u)q r]. (r)r.{1, qtqnclLs5t.{)

3 \r-r.{ ur-r-u [\rL+t-{l t3uLa ........ uqrqr{l rurr d. (qLqrq:qL, r,{Itqreu)

4 lrqrc*u r.Ul 1g gt-{l u.{rqr d. (55, 60)
5 3?,c 6u0rs-u s-rr u) ............. icr qal.tl "ir {€c.rr1Bi d. (L\, }y)
6 %-q itq.{ qtqs-tl nt.u-,{ crz-r ............. e)ql dtJd. (6 qr6-3, 7-7.50 \u6-.3)

7 tidl.u ha+Lj ur+l oroLlqr-{rtL .............rE ut,{0 mq d. (3 , 5)
8 r'{l.dl.o.ri I2A ............. c-ror.rqrql qt{ d. (.tBtl, z.or.u 24 3cu3'{dl)
9 {r{J[ rur6 rqr{l .............. -u e.{tRi t{iri x{ri d. (D}t+, qidlr,tl)

l0 ............. -{l r,ur.t ur.l qtuii q:{ at+lcu qrqri r-r{ ull d. (Et}, uLrrr)
I I rqiq iJg .utqtl .......,....... r]. (iiscu, qt\JR)
l2 rrqr{ o{l-{l 31d[ ............... it,r+,{r d. (,rti{rL{lt , ur{fu)
13 drior 61c1ji.ri r,t,icr.tr t.rti: ............... er\B{r 6lo0 sl d. (RRt\a, {r.1.,{)
14 alc,ls-u u.th[ [4sLir .{L) .ulirL h.rL,{ ............... \$ ,rd...t.ll {qa d. (+Lu+rer,3got)

I

2

3

I

5

t4

l4

t4

t4

t4

[Max. Marks : 70]



Seat No.
B.A. (Home Science) Sem.-I

Dec.2016
BAEC-2 ( 1 0l ) : Introduction to Human Development - I

Time : 3 Hours [Max. Marks : 70]

Write in detaits about the general principles ofgroMh aad development. 14
OR

Write about the concept and Needs ofhurnan development.
Wrile about the different stages in human development and describe any one ofthem. 14

OR
Write about growth and development during pre-natal period and factors affecting
the growth and development. l4
Write in detail about the emotional and language development. (0 to 2 years) l4

OR
Write about the problems coming from infancy period (0 to 2 years)
Write about: 14
(A) Bed-wetting

@) Telting lies.
OR

What is immunity ? wdte about the types of immunity
Fill in the blanks. t4

I

2

3

4

:J

l. is an affecting factor in growth and development
(Stream of glands, language)

2. Human devclopment knowledge is usclirl in (Iriend, Child guidancc)
3. Development ofhuman life starts from

(Childhood, germinal period)
stage

4. Otd age slage is stage between years and up to lhe death. (55,60)
5- For birth ofa Boy child pair of chromosome is important (xlt, xy)
6. Generally, wcight ofchild at the time ofbirth should be

(6 pound, 7-7.50 pound)
7. Base ofteeth development starts from months ofpre-natal stage. (3,5)

lrom the birth

9. Germs of enters in the body after injury (Tetanus, Polio)
l0 Less and more creates problematic child (intelligence, health)
It. TO be healthy is a ofhuman being (right, pledge)
12. Bed-wctting is a problem (Psychophysical, Physical)
13. Handicapness In handicap child sometimes creates problems

(Special, general)
14. Other than heredity,

ofa child (cnvironment, famil)')
is impodant factor in all round development

8. BCG vaccination should be done within
(1 Month, 24 IIrs.)



Seat No.

B.A. (Home Science) Sem.-I
Dec.2016

BAEC-I (102) : Introduction to Home Science Education - I
Time : 3 Hours [Max. Marks : 70]

{om (r) ntqr z rui +r[*qLa d.

(t) rir la-0 vte[ utLg aLlter {s i.u 3a "jv ath d.

I q.hLt +tllr1lti cluhsut [lLetct-tl ]tel; *toc.r rt.i JE,,r'i-{l la[ rrl 14

r{qqt

2

3

4

5

"1u hnr.t tr [\c.ttcrl.tL tr r,ttr{t slu ol Ra{oL.ri 6irq1 e,, .

c1u l+etL-t Rlaetj aLuL{ uu1[i tl{ t.tmqi.

r{qlqt

Ulrt+t,r-+j ,tU.e U.l 1c,r Artmel.

4Az sard o!€ fqar[.t lqGtrot 1i si.{t r,icl-u .tr.Lru ql-tl zeud

rdP{qt

c1u Retr.t rlrrrr rLL,ru *rtrl <trtL rlelt str{ lLi 8?qr{r dqr ,i.tl otttuLrs q.Oqe ttqt

rte.c-tt r{i 3"+ 3trul.[I rd rd.

qlgx[ o1g lEetr.r RLaE 0 crLaetkdrlal uqirrq'l.

r4qqt

c1u lQ.nLt Rraet.r<[iti ar'i u-uci; %l{{rd.ai q"[srcL h+.trrdl e.{i.

lnltr cr"ri. ("1.I .i .i)

(l) d.r tr,r-+ttL RILrL jtrui

(2) o).t +u,r-+r {rerLtr trtLl)

(3) c1.t ntt-u Rras{r iLqI

(4) ul.t +u,r-r ri+LLtt qd,.rz grqLt G[otL qai ral

t4

t4



B.A. (Home Science) Sem.-I
Seat No.Dec.2016

BAEC-I (101) : Introduction to Family Rcsource Mangemement

Time : 3 Hours [Max. Marks : 70]

(1-u

I

2

J

4

5

(t) otqL z rral sftqra t!.
(r) elr ua-{I *re[ ouE tl[.ict d3 alt jq ,1cr at[{ d.

cls a{q+tm 3ir,{i a[ir.tLl c-r',,i.

uqqt
c1e 

"rerrrL-il "u-lLul u.i {u.q <r"t'r.

Rli e., .

(r,t) 
"t.rrqL-il rr[3lu.u aq3x,+t

(q) 1..Liatl r,r.q uil usti.
4qqt

(u) {r,i"d-r-{I "u-ur,rl 
q.i (rqt[QLsarr,i

(ot) {"6-t-{l .4r-rt,,rl i{,i .tqa,,rl
tljtcts iutr-ri-{l .,{L'urtul ui :ur{ hri aql.

uetqt

rlifou utr-tl.{t crerlQLlarr,t] l.trl h\-ur{l q" .

tislq a]"{r.tl {'{.u.tl orLl"ur,rl qi dot:sra] Rri RrrtLae[ a.{.
4ltctl

r4Lgli + rqqri 1u eorerru,,'{l +rd aul
',rd 

.{3 5r).
(1) le c+crqr dr tr'tll: rr[}u d.
(2) .l€ ..{*qtj 6lir.r .a+{l.tlit rrtr{{l ta'Lr-{I {i" sr{ d.
(3) eri'ucrrqr-t qrqiz-t qJar-tL utqiz-rr{l "i.u,Ictl *lr t}.
(4) tetu{ irL,Ia slq r].
(5) sl3hr irLrr-rl 'qiq uaur d.{ r}.
(6) gk u-rdl{ rrq-r d.
(7) slgGu nttr.rl ugurl"l oit d.
(8) ir.r,{, tfR ra.l tr-r q,u-t.{Iq aLtr-t d.
(9) tiet4 6i {i cl.rLri qrii d.
(10) olc c{qrqrw tc RLas ,{qt €l,r d.
(ll) qr'ftI-u ft{s.,r.i tr-r{irr f.tsur,u) uoa [\[{-t t3{ d.
(t2) uUaR3 +rltr1 r[1uq{ a*qli iiqqqt u) arRL atu GLqetq srqt{l r{4. d
(13) ottl{l r t{-t'l-i .lse,{Is 6qq't d.
(t4) ut tl%-t sl6 qeL tt.{.t {tir4td sLu,.tJ<rt-tl lttht d.

l4

l4

l4

t4

t4



I

2

3

4

5

Dec. 2016
Seat No.

BAEC-l (101) : lntroduction to Family Resource Mangemement

Time : 3 Hours [Max. Marks : 70]

Explain in detail the obiectives ofHomc Management 14

OR

Write the definition and importance ol'Home Management

Write about: 14

l. Steps in management proccss

2. Imponance and qpcs ofcraluation

OR

l. Definition and charactcristics ofplanning

2. Definition and stcps ol ()rganisation

Write about definitions and t1'pes of family' resource 14

OR

Explain in detail Charactcristics of Iramily Resources

Explain detait definition and stcps ofDecision Making 14

OR

Write about of rolc of Homc Maker

True or False : 14

l. Homc mana-eement is a mental process

2. 'l-he objective ofhome managcncnt is to achieve goals through unlimited resources

3. Long lerm planning is associatcd rvith pre-planning

4. Evaluation is comparative

5. There are five types of lamily resources

6. tntelligence is a ltumar rcsourcc

7. Family resources are none usef-ul

8. Time, energy and money are non htunan resources

9. There are t\.\'o types decisions

10. Home maker sen es tltc purposc of a Teacher

I I . Constant direction is nccessary lirr physical and mental development of child
12. Community material resources arc made available by individuals for

achieving communitv goals

13. All the resources havc altcrnative use.

14, Negative attitudc makcs thc work interesting

B.A. (Home Science) Sem.-I



B.A. (Home Science) Sem.-I
Dec.20l6 Seat No.

BACC-I (102) : Introduction to Clothing & Textile
Time : 3 Hours [Max. Marks : 50]

q.rtL (r) t ttrt r ua1 *rl*,u.t r).
(r) el, ra-tl rrtefl,,tLg aL[{eL {r ,l-tL 3o 3,rL urfi d.

I

2

RteLu ,trll-ttt r.Lr"rl r,ti ,]'L sLqI hrl [qa +tt e" .

r{etq.t

qa +Li lqE:tL.t.ti U[iuL+r ,,ti ,l.tL drtl eL.r'i.

qtjl d:*q,I-atl rs..t q'l itL ugr{ hel aqerql Ltl au .

),t{clt

hat6 art.ti q\lrrL rt.utQu ,tru ldtgurl hrl hktLrslt e{.
ottqrlu sqsLr, .{I "rquL fqrl [-q*ure[ e"tl.

14etqt

qroultt t,rsr.{l qr[g"[tL Sqrq1 au .

3zRrl +Leot otLurs u'l +34 r.u tr&ertt r'trqg'[-tt trNr htl gcf ,tLILdI utut

its{cu

1ur q[Aqht r\iLlti hri ct"tl.

(u) 
"tt, "tli sr).

(l ) nLLqs {t) ttrrs-{I t1{ta tt{.rtt .tL,ttLti ttt t.t.tt .tL) dq d.

(2) )ad qls {LqqL{L l,ri%rr d.

(3) BaslcL.i lmLdi,ti eoreo{l sJqL,ri uL{ d.

(4) 4d-u Cte d uLtrtrt-t-tl ou"t d.

(5) crqs Rrq.u u) ,u,r-tl lera qq[a ,{utL gLtL rrt{ d.
(,,t) qrefl z"+ Ud.

(1) o+r't,t[ 11l Urr.t l{crLU .tr[-t [l r tr

l0

l0

l0

l0

5

4

5

5

d g{. (h+,{3 {rr, oLelu {tr)

(2) atgs <la.{I qLgrx ............. elq d. (}urt vlz, [trse'.,tr2)

(3) I+ drti .............. sJqL{r r{L{ d. (s,[t+}-s, d,{r'ld't)

(4) qr{l-t.(r f{qst rkfl .rq,l rrgtu .......... ('ttgs{l qLqql qlud. (r,ts0, sp0)

(5) alscrr-u r,{srul ............ 6lera sl dqr dqL dud (,lLet ha.Ln,6l.qtLu)

3



B.A. (Home Science) Sem.-I
Dec.20l6

BAEC-I (102) : Introduction to Clothing and Textile : 1

Time : 3 Hours [Max. Marks : 501

2

l0

t0

3 Explain in detail qlothing management in childrcn. l0

OR

Write the points ofselection ofohildren garments

Write in detail about the c lothing of creeper and pre-school children I 0

OR

Write about the clothing ol'clders

(A) True or False I 05

( I ) Necess ity of c loth for children is to main body temperaturc

(2) Tailors chalk is a measurement tool

(3) Fitdog is calle/'Lablabi" in Gujarati

(4) Balance wheel is parl ofhand machine

(5) Method ofdirect measurement is better than all other methods for sewing cloth

(B) Fill in the blanks : 05

(l) Sewing machine was first invented in India by_. ( Vinayak Vaidya, canesh Vaidya)

(2) is nearthe side plale ( face plale, needle plate )

(l) Dress maker is called _ ( dummy srand, paper pattem )

(4) Lighl should come from _ whilc scwing ( Right side, lctt sidc )

(5) Todlers cloths should be such so as to create _ ( selfconfidence, enthusiasm )

I

5

I Write about parts and functions of sewing machine with diagram.

OR

Write about history and scope of Clothing and Textile.

Wrile about the importance and O,pes of body measur€ment with example.

OR

Explain in details about standard measuring points used in sewing work.
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q++ (t) qqL s ual *ft,rL.t d.
(r) eL q+.fl rrell ..tLg erL[{eu ir .ItL ga rjcL ar[{ d.

I S{\cL dacl { ? ritL usL?i hidtr{) zcu{I otLr.r.ti 3uiuertr sLtqil cr"ri. l0
utrtcu

:,u.r-p-{l .qLqt utL,{l ttL tLqI h111Lre{I cruri.

BMR {ad g ? .1 uu rr.u \[iqq] d"rl.

qqqt

uLurrj +rllraer s{l R?dLre[ eql
ria-rtr 6cL.r{l crdL el.r'i fi+.rLrell a,,t't J-tL ruk{) i{rL-rl aut'l.

qelctt

gLqIBa-tL gtqi cr"[ qLkll ?Er.ti e.1't.

?iqqr-{l qq[ar'ti-u trqi ur'{l siu oi ht hr.rLrel] a"i.
4qc{

{qqL-u ttagh trr,[ ritrdl q..tri u{r.t}ti Ll.,,rc{t.L 3rtr,ti o"ti.
(r,L) 

"ucll t"qL Ud.
(l) WHO:i t'tli tLlt ...... {iq &.

l0

(2) 1[Q u.I hsra rt) ,{iqs a.q-{I t3{ta e)+ d.
(3) l grm +c[ .............. kcal r,rL,i &.

(4) 3r('rTttd-u qr4{?fl d<l ........... -r4 t}.

2

3

4

5

t0

l0

5

(5) Utlttlql

(ot) qu .tler s{.
uB.lL d.

5

(l) qurie{I r1e[ qlceL 14 r].

(2) qrsR-u. r,u.5 r1e o)r d.

(3) I grm ulJl't {irr }e{ }uq d
(4) ol[s-:L riqqL-{t $[ utactl d.

(5) cr'[ut t tisrtic{l ullt-t ,t4 6.



{q.r

Time : 3 Hours

r (r) qqr r rai gfsu.r d.
(t) eU lar-[ r+e[ r,ug ar[{er }is itL 3e 3u atR d

I ) ui.rrt[&t-{l r+r{eu+q..[ .r{t",{r tthkLr +,rcnql.
r,tq'-1i

qz.u r['tL.rt gtvgertl [irr uLglA.[ cruL+{I nrmcl.

2)
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t4

t4

t2

l5

l5

rtcr{ l{rdlel ris{'t
+i"L-0 1c+ n0stdLu rsLd

5r+at.tl [i,rr rhrr. n'taql.

3) ls.tlrr e,,tl. ("Ld,l 4)
i) 1oq.t utf{r r.t++
iii) ai+ ldQ+

"rLgr.tl 
rr[Qr ri<iint

u,tgeLr-fl [i\.t litrheL

l)
2)

r{q1t

ii)
iu)

4) a3{ tcrot uLuI. (op} tr qiol
i) 1c+ +i [3ktd urf edql.
ii) gEgu.u :urd crstq't.

iii) ,tiot.{I Xq ru'I{dfi l1nr n'ti ,rf1otui wuql.
iv) ruu ui 1r+ar +ul.tl aaq.t aL[d.
v) unc r4Alr'tL ruLd grud.
iv) dr.te{I u{iura dzcl g ?

5) ,io,{ hrer r tll ,+LdI soqr 1d, (otri t 'ril)i) ri.dh-it tL 'tl urIrua .............. j rLLa d. (hsL{, {'{e, {eu,,r?i€.oll)
ii) d qorlldr +iqFt d. (er,0.r, 'ia-e, tJr, ,ia)
iii) +uurt r4i r[qL-.t gttlct eal .......... rioilr d. (dlqi, ar*t, 11<, +ri.e)
iv) [i\rt ttaai crre.s.fl qrktRr urqJ .......-. (tr) r], q{ t}, t&r +} t})
v) .tl,Llur.tl artr ....... d.q d. (rlr,,r{, [hhzi riqiar, eiq q{.1 +,tiar)
vii) l4't<t qaal 3r.rrl................ d. (q), qrl, t&r rJ)
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Note : Figures to the right indicate full marks.

Explain the delinition of economics given by A&m Smith in detail.
OR

Explain the law of diminishing marginal utitity with the help of diagram.(i) Expansion and contractior in demand
(ii) Tlpes ofelasticity ofdemand.

OR
Discuss the law of supply in detail.
Write Short notes (Any Two)
(i) Basic problem ofeconomics.
(ii) Consumer'sSurplus.
(iii) Demand tunction.
(iv) Determination of equilibrium price.
cive Short Answer of ftrllowing question.(Any Five)
(i) State the meaning ofvalue andprice.
(ii) State the twes of lrtiliry.
(iii) Dscuss the factors affecting elasticity ofdemand.
(iv) Distinguish between stock and supply.
(v) Discuss type ofhuman wants.
(vi) What do you mean by micro-economics?
Fitl in the blanks by choosing proper option.(Any Five)
(i) According the Robbins economics is the science at...............

(Development, Business, money, choice)
(ii) .-..........is immaterial wealth.(Land,patent canal,machinery)
(iii) There is...............rclationsheep b€tween consuption and utility.

(Divect inverse. zero, parallel)
(iv) Real income ofconsumer ...............as price declinc.

(Increases, Decreases, Remaines,Constant)
(v) Slop ofdemand curve is .................(Nagative, positive, Horizontal, Vertical)(vi) As price fall supply..................(Inueases, Decreases, Remain, corrtant;

l4

l4

12

l5

l5

3

4

I

2.
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(t) ntqL r vetl +?[1.1t(t t].
(a) elt aa.{l zteL ary afda ait,la 3a yt atd d.

zdq a*qt.i qLa aqa"0 z{la unt vqqr qdtaai{ qatf nl. t4

4qqt
Rtrl'tL-t urf,iz at] ottz,ll,a te{,izli aastl{ q11[ s?1.

otLaa4i ta\o-\lrtt %-n;a, iligtt?, <trt,1dtz, %th6ittL?st u-l <<gzt ,i4Lzet t t4
qastl{ ztttf c?) .

4Eql
olRdqi obLni xltst r,lt,fi ,'bt$-ti sastl tsuqi.
p,tila <ul. bLn d al) 12

i) ouwi 4tetlz 4tqtii str,rci.

ii) ottwl ilqlq 4qt,ti ui,{], 6ttbt, tiqd*i aql.
iii) rrrra,ri qx{l fq?de.li azsrl.

iv) oa:ari cd,'[t ai,l.u da*i..
v) &r4a - a a "1 

,'fl-tL ,4Lal

Arr.i ?,,ttbt 4t\1. 6t,l a ,.til) I 5

i) ttLaQt dz ti-l :dln ?

ii) ,1kil4 
"Ltt rt tlzt) 11 ? i wt<l.

iii) rrrea,rr qst$- )ltn ?'srLql.

iv) ano11 i,at.tl ,ana atuqi.
v) u4ea oitL ued. { ? xc tt).
vi) a{< anqs ak? [4rl uuqi.
<lo4 [arq al{] utLd) r",4 ke). 15

i) ug qk* e*z ......... .,1 tu,zl ectl. (ui.?tzqw, ,'tqc{dr., al.tiaq&t, A.2.att tt<ru)

ii) zq4< zttqt u\,u.ll ..........,aakali 0. kl, *\ raLz, uizt)

iii) una4 uqtOa a'uqt q,,i - zocyti ........... tiap. c,{1.

(zatz.ct 31., 1??o.3o ti., zoeo.to ti.)

iv) orrearl tlqq)z ceee - aoooti ........ etlAi ?)"r"LLfl lA ql.s!! s!j.
(t.s.e ea, 1,9.e ea, eY.\ at, ?u.a e4)

v) ouzaqi q* qgal e2 qo[ euq 0. (uiq, ea, tez)

vi) "Ldo| 1w"tl ,<R a,{url,t ....... al zV *i aal.
([\-erzt, ls,q qth, al!,'*s ]r)i, eiJrl a.1 tetdaie )

5
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Note : Figures to the right indicate full marks.

Explain the concept ofnational income and discuss various methods ofmeasuring
nationalinaome. l4

OR
Discuss characteristic oflndian economy as a dcveloping countT.
Discuss the trends in birth-rate, death-rale, population gro$tb rate, sex-composition
and age-composition since '1950-51 in India. 14

OR
State the magnitude and cases ofunemplolment in India.
Write short notes.(Any Two) 12

(i) Trends in per-capita income in India.
(ii) Share of agriculture, industry and service seclor in the national income of India.
(iii) Causes of population-explosiou in India.
(iv) Estimates ofpoverty in India.
(v) Concepts of absolute and relative poverty
Give answers in short (Any Five) l5
(i) What do you mean by primary sector?
(ii) What is dcnsity ofPopulation ? state.
(iii) Show the tlpes ofunemployment in lndia.
(iv) Exptain the concept of poverty line.
(v) What is disguised unemployment? make clear.
(vi) State what is national income corunittee ?

Fill in the blanks by choosing proper option (Any Five) l5
(i) The word Hindurate ofgrofih has been given by............

(Prof.Rajkishna, Amartya sen, Prof.Dantwala, Prof.D.T.Lakdawala)
(ii) There are ..............methods ofmeasuring nationan income.(Two,Ttree,Four,Five)
(iii) Per-Capita income oflndia in the year2014was.............. 'U.S.Dollar.

(1262.64$, I 120.30$, 1030.40$)
(iv) Contribution of service sector in the employment in India in the year I 999-2000

was ............... ( I 7 .2o/o, l7 .7 o/o. 24.5o/o, 25.8)
(v) Population on census in India is conducted after every ..............Years.

(five, ten, fifteen)
(vi) Concept ofpoverty -[ine was given fust by . ..

(Minhas,Pranav Bardhan,Lord Byod-ore,Dandeker and RathNeelkantha)

2

l

4

5
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p-tL (r) otu z lal sruu.t r).
(r) ei: ua-tl zrell uug trr[iLar dr ritL gct 1et elLh r].

I r,r{rLLa-t rlsr[$ter u-I ,+ricr uller a+rwr.{I rrgdi utM i-0 n[\aL:d.

.tl{.u r,{LeI ?r,6+lt. ("r.1 ,i oi)

(u) +4+l u.i {.u+i (.r) 1e,r ui G\a (r) iiq[d .,ti 6.'tt,]L

2 qad! dhi.t 5t{Illet-ri Ft r.t arzt{l ii'tt u'r.rtd z,lqi.

E€1* [txNeL.tL utrt.- .rts5+t r4[U ri.tN-tl -ucr ig srl
3 \i"L dzd. { ? riot-ti [i+'t :,tqqta {[J.t q{.

(u) ri.t.{l lertqaari ,-tnl nai .{Qqqi zet+\.
(q) .iFr-tl +ut eztsi uq[d{ rer'.{I tc,Iq1.

4 3r<ar u:l zuu-t .ta+t +trn.{I Srclt.ti Ft,rt l.ttLq1.

qe,t1\i \i"r r,ri u?.{5rjt ,Lrqrl s{dt G\a tiqllcr.{I uE{! aqtt{I .tessl arq1q].

5 (r,t) -fl,]-t Rtu.t.I'ti d !.tiai,i et[ql.
(1) 'tt-t{l{ zlRrLoi't'riB.r r}.
(2) i.r,lriA,r i,u.ri u.l .rL+ct:Ls utqr .rd :ItJ .tflqa .r,jl
(3) tr{Ilttti wLcr urla r).

(4) "1tet-u,,1[q5 ri.i\.i,'{te r{i.d[.t { utul &.
(5) 'ti"t l'rt rrq atq qai ti''
(6) ut'ttz{ ti"t 1eT +tt'ia r).
(7) Ft+ ar 5'-'151 

qn'l 
"r11 rioitr d.

q otgRJe{ xrir
(l) ru c6 

"rLlds 
c4 r)' ?

(u) sqL (q) \tcti (r) "tsL-r (.s) q,irr:LrL

(2) u,ftLra ,auoij lisrLr d. r,t .+t,lL Ari q !{ ?

(.,r) drtF,tr (q) dt\'n (r)'ru[a (s) Nu
(3) udl :,ri 1{l"jet "JR 

q{{ d ?

(.t) l.llq (q) tqq (r) {'1
(4) 'iuritu'it t+gul'{i tFr{l yn xt'lnat el'r d ?

(.,t) ar,lsl (q) r{'t{ct (l) {sT
(5) 6,.{tr.1-rl d otL"r ot'dlui ut{ d ,ii { rJeL't r} ?

(',r) z,rr't ("1) Sual (:) i.rt,1
(6) qU'[ Gi1 ]di {i tr& trL'{ d ?

(u) tiq eLl (q) Srqat eLa (r) {r 5r+a oii tetu

(7) .ii!r [&)- tJ ui. 5i+sl c{ .tl Glt t 6vr { att tttl ?

(u) tFrr 8it (ot) qrrrl (s) 
'rari
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Note : All questions carry equal marks

Explain and examine definition of Ecoaomics given by ADAM SMITH and MARSHALL I 4
OR

Explain following concepts (any two)
(a) Goods & Services.
(b) Value and Price
(c) Wealth and Welfare.
Explain theory ofdiminishing margiml utility and state its limitation. 14

OR
Describe concept of consumer suplus with the help ofrxility sn-alysis.

What is demand ? Discuss law ofdemand with its exceptions. 14

OR
(a) Explain factors affecting pdce elasticity ofdemand.
(b) Explain increase and decrease in demand with the hetp ofdiagram.

2

4

015

Discuss difference between supply and stock. Explain law of supply.
OR

Explain with the help of diagram the process ofprice determination by demand and supply
in the market.
(A) State whether following statements are TRUE ofFALSE.

(l) Human want are limited.
(2) There is no difference between Monetary income ald Real income.
(3) Utilit-v us a relative concept.
(4) Concept ofconsumer surplus is given by ROBBINS.
(5) Demand cuwe is negative slopping.
(6) Demand for given is elastic.
(7) There is inve$e relationship b€twe€n Price and Supply.

(B) Multiple Choice Questions.
(l) \Vhich is Economic Good ?

(a) Air (b) Water (c) House (d) Suilighl.
(2) Economics is a science ofscarcity Who gave this definition ?

(a)Adam Smith (b) Robbins. (c) Marshall (d)Pigou.
(3) W}ich typo ofutility 'Umbrella'has ?

(a) Form (b) Plac€ (c)Tim.
(4) Price elasticjty of'Luxurious goods'are ?

(a) Elastic (b) Inelestic. (c) Utility.
(5) Po(ion ofProduction place into market is oalled ?

(a) Stock (b) Supply (c) Sell
(6) How Price of Product is determined ?

(a) By demand (b) By Supply (c) By both demand & Supply.
(7) Ifdemand rernain coDstant and $ere is rise in supply. What will b€ efrect on Price ?

(a) Remains constant (b) Increas€ (c) Decreas€s.

l4

01
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a.r-LL (t) otqt z lr,.rl +rurL,t B. (z) tft qa-[ rrtil rLg erLhaL ui: ,i.tL 3cl 1eL arii r].
I a{+ uL.rt.[ orqL,t{-[ ,ralir,ri {rcnql. A

i{qqt
ut{l ur<ru ltlqtr ,.lLei umqi.

2 r4crrhsRa Lt .t{} oLte.[.r l,tdciati aaet'i qqI. 14

ouldlrr r4si iarL qL,L,,rLt'r .{fi{,r *,,{1 tuntn, j( x{icrQr irarLrLi t.{l,6a1"ir r{.1
rlqLdatl sLqi qai

3 qrrllrisrctti Ftaia orLi.{}rr q{dztt {ar,[,tL +r{%rql. 14
r{{qt

otR.t,tL t*{l1Gtr, 1.r?q.6ir ?!r, q*.[ 
"llrrar 

ia-] rtLrriL ut3tor-{I a,t1dl urui.
4 <tLuri clst{'ti rLi.qir qL\i. r{Lkt,ri r'igr{ hqtrqr {uLl t{I{er \"Lei r{qI 14

o+r.+i 
"r{.o{hL rsLt z,:u.il o,.n o.rtulS*r, ?g*{r.(? siqr cti{ei qcLai qqI.

5 (,,t) {I.lti htrLt).t{ o r.,tlei.t atiql. l(1) uzu{la rtqg { rlalL r,rL.rs d.
(2) atk tLq n{l o)r, uct 3ct GerLeui ,L-tl tL,ti rpr ol.r .il ,I qul AsLr r}_
(3) qiqa.r {,r iiqtharLcrrl ,tL{ d.
(4) otLraql "L{.o[ i.tL -{I{ crr{Ij q{et [Ar rir.
(5) "idlt'L +L1L'lu Bd),r alaqi euq r).
(6) otti<t .rn[l {5r1eL-tL .'{Ie( aqra,ti d;.
(7) Rt otLi. rtcL.{Lqi r,{r.ld u{l.{ ,arqs,i qLkrhr }tLqs s&qt,{ a.

(ot) otgRreu rni , 7
(l) olBs0.-1r qisLl+.ri t$rr ar+r{ {rL{rr qai.te{I. rLrer i ,..

(u) ottre 1:-..1 t,Ji (.r) .usu ci.u,iL trfl (s) Rhrq ,r.ri tr{1.
(2) 3a :r$r uLrs, q'L'..fl r,rLq.E rral r,u rLretrr tg uir & ?

(q) .nJr ,,1,{ (or) quru q.t (s) .r.rur[ .r.{
(3) Gqictiti r*tLirL $u eiaqi qr+ d ?

(,r) Baq (ot) rLqhr (r) q,{l r
(4) <.tLt ttL .r l tllaetlLti 6]j .t{.tuLhouzs.r{ 

"rqrqr.ti 
qLii t} ?

(,,r) r SZ,1 (.t) l93 t (s) 1941
(5) T i'"[l taidF-r tau'i { :J+tt d ?

(,,1) cD.p ("r) cN.p. (r) N.D.p
(6) erltl\i ,,.{r qar-[ :t{6{I c,tqr \ul d ?

("t) rLia ("t) Ftrtsi (s) ds ,{eL tO
(7) oirlr"ui.l EzLs-+r 3rj 6fltr.-t lrur[it qi..r t} ?

(4) ,,r,tqqL.1 (ot) $tutu.t (r) ds .rcr -rO
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I Explain the methods of measuring National Income. A
OR

Explain different concepts ofNational Income.
2 Explain characteristics oflndian Economy as an underdeveloped economy. 14

OR
Explain the structue oflndian Economy and discuss the contlibution ofAgricultue,
Industries and Service sector in Gross domestic product.

3 Explain theory ofdemographic Transition in the Context oflodia. t4
OR

Explain population gro\eth rate, Age compositio& population density and Life expectaacy
in India.

4 Explain the causes ofunemployment in India_ What are rhe remedial measues taken by
Govemment oflndia to remove unemploymett. 14

OR
Describe tlpes ofPoverty in India- Discuss steps taken by GovernmeEt oflndia for
!€moving poverty.

5 (A) State following sratements are TRUE or FALSE. 07(l) Per Capita Iocome is the Average Income.
(2) When the individual is working but his contribution in total production js Zero then

he is called ,disguised, uoemploymeot.
(3) Constructiotr Industry comes irl Service Sector.
(4) Population below povety line in India is Constant.
(5) Agriculture activity is Classified in secondary sector.
(6) India is in the secotrd stage ofdemographic Tra.nsition.
(7) When the National Income is Calculated on constant price is called Real Income.(B) Multiple Choice Questions. O7
( I ) Household work done by Housewife is not clmputed in National Income Because. . .(a) There is no market value (b) There is no mooetary tansaction(c) There is no exchange.
(2) Wly Gross National; income is higher than net national income,

(a) Public Expense (b) Depreciaton Expense
(c) Consumptionexpense

(3) 'lndustdes' comes in which sector ?
(a) Secondary (B) primary (c) Tenitory(4) Which year is consider as year of.Great Devide, in the history ofpopulation in
India. ?
(a) te2t (b) l93l (c) !s4r(5) New Domestic pioduct is called
(a) GDP (b) DNP (c) NDP(6) whi
(a)

ch type ofpoverty method is desirable for reducing unemploJment.
Labour Intensive (b) Capital InrcNive (c) None.

B.A. Sem.-I
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(c) ',itlL z qai lrs,-tL.t &

(r) tL qa 1cL a,tLt d.

1 ,*L[dr u,rs{r qzc:i $ ?.arFir r.nu 6qot rcLtL arri z'ru+I. 14

14qqt

i4rJlra { ii,rttj rua d. zlsL..ts {.i .t {ttl.

2 (A) tuliqae{ ,4qhua l,ti atoreatl r,r.drLta 14

(B) rLeLi4,r ,,rLqs l,ti .rL?dR: raLqs

l,tstcLl

qzdi r{lnld E&1eL-ti lit,t aetfls {,I tt t'dlq'i.

3 qroril qd aqm.il, {or-n [i {.r-{I t"(ta uqR{l 'Leeq{l uqmql. 14

14etqt

(1) 'ri"t{i R+alcL - dsiilt.ti ,ti"t\i.lrtt{ - eaL.tl uqld.fl reeeil ttzttl
(2) ni"[-tt IC.{ilAet.tA }ttLt 3?.ti qRcLqI +L,t'atql.

4 1e[ eR+LtlcL,,LL ontrqi'rior r,ri gr.raL aLr G\a 36 {A r:A qt{ 0, a uqh{I.r*rll ?ttmql. 14

qqqt

(1) gresi.ri Rurcr+irltt ui 3r.rrtt[ .rqtr] 
'ratsl 

,,utld-[ q6er{I nt%ql.

(2) glqdr-fl 3err[IaaA uu srrti ,rR<'Lql zc[q'I.

5 .ttl-r xas nsfrqi{I ale{l qd q-I utesf a3cq qii€,3{ji a.,t. 14

(org{sta13 ,{riaoft-u rrri - l.{s-ri 1 o1u)

(l) gltzlcL dzA

(a) .L+E.ii tJei q{tL<t tictlucr'ri 1cL (b) Gqdotdt

(c) uLie

(2) r,teitra-{I rcqtsLae{ "+t".+t 
qLqtLt

(a) dtt-ut (b) 
'l.s*L tSrer (c) uda (d) 6,lrli.r 3lu % 'tJl.
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(3) du ueL c+g.i mLl is r{lL;isll dh +ru.l au s.u'ri uri erLl glQojeL.ti * ctr.u) qLq d,

,l.l rt1 gFalcr rJ t) t

(a) rqqcLsft (b) uttaeft (c) {ctctefl

(4) rfi,rtd EGzlcL l.rttl aLuL

(a) e-r (b) *'!r (c) U'q (d) qia
(5) u*r uRtr',rlti erd h+li sr.ici ,{orri ,{cri ha5

(a) 'ticLti [it LreL - +ish't (c) tFr-{I 3auLdaar (d) rlirri crqr+qzr3l

(6) aqutl o+Eul crLe.r-l) .rtr{tLa-i {rtlt d.

(a) u..rt (b) u{et (c) t&r
(7) ,ti"tl"tL.i aLc,t

(a) u-t (b) *,!r (c) U.r (d) ui.L

(8) z1 ri"r [Pn rJ u'l yr+al q{ aI G\.1

(a) e) (b) .t{ (c) Ftd
(9) 'ttcttt.rturl qzLsl utertlla &.

(a) thd (b) gr+ol (c) u*r utt'rcl

(10).t+4-[ G\a u.l Seeat +ol ri 'itr d.

(u) tFu (b) "t+t (c) {lttl
(11) Ulq5rri lq+areL - {slrr-t{ sLrcr

(a) )s-rla'to (b) 314{ (c) t}.rct (d) rr'1il{t

(12) gr+ar l,rLd aie

(a) trt (b) xcL (c) u-.r (d) t{-i.r
(13) 3lesL-{I 1<tttL{et.Ltj X,t

(") ql.raL,ti q.i za.rL{l }rin

(")

.ric[,ti sr.rl *r.u{ }15R

G\.1\i qal z:r.rL{. }r+n
,ri.rL,t[ zrai zrL.LL{ h+t;.

(14) 6tTr,{ t,t1la,i Gi.L .Ldl ,-Ltq '.!.

(a) W.r:L (b) qi,rt r,L-i \1.t6't

(b) 3lq!1L'L.ti agt'{Lt }$Ll

Gr.L,r'r qai zrLqr{ }:-trLr

(d) G,tlj ili % .llc.

(c) ti"L



Time : 3 Hours [Max. Marks : 70]

What do you mean by Economic problem ? Explain the origil of ecotromic problem.

OR

'Economic is a science ofwealth' Examine it critically

(A) Micro economic and \,,lacro economics.

(B) Monetary income and real income.

OR

Critically exardne the law of diminishing marginal utility.

explain the meaning of demand. Explain the law demand with the help of diagrarn.

OR

(A) State the expansion and contaction of demald and increase and decrease in dema:rd

with the help offigure.

@) Explah facto$ affecting elasticity of demand.

Explain with the help of diagram, how price is determined by the demand and supply in

the pefectly competitive market.

(A) State the expansion and contaction of supply and increase atrd decrease in supply with

the help offigure.

(B) The factors affecting elasticity of supply.

Choose the most correct and ideal answer of the following.

(each question carry one Marks)

1. Utility means.

(a) Want satisfying quality in a good (b) Use fullness (c) Pleasure

2. The welfare definition ofeconomics given by

(a) Robbins (b) Adam smith (c) Marshall (d) Norc ofthe above

3. Utility can be increased by transporting a good ftom place to another This is

known as utility.

(a) Place utility (b) Time utility (c) Service utility

t4

t4

t4

l4

t4
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)

The slop ofmarginal utility curve is

(a) Positive (b) Negative (c) Zero (d) Infinity

A change in the quantity of a commodiry demanded , as a result of a change in other

factors is known.

(a) Extension and conhaction in demand (b) Price elasticity ofdemand

(c) Increase and decrease in demand

Consumer_s goods satisfy human wanrs .

(a) Directly (b) Indirectly (c) Constant

The slop of demand curve is

(a) positive (b) Negative (c) Zero (d) Inflnity

lf demand remains constant and supply increase , the price

(a) Decreases (b)Infieases (c) Remains constant

lncrease or decrease in demand is due to the change in

(a) Price (b) supply (c) Other factors

The quantity supplied varies with price

(a) Constant 1"b) Inversely (c) Directly

The reason for expansion and contraction ofsupply is

(a) Technology (b)Tax (c) Price (d) Subsidy

The slop of supply curve is

(a) Positive (b) Negative (c) Zero (d) Inftnity

The formula lor finalelasticiry olsuppl) is

(a) Percentaqe chanse in supplv

Percentage charge in demand

(b) Perce[tase chanse in supplv

Percefltage change in price

(c) Percentage chanqe in price

Percentage change iI1 supply

(d) None ofthe above

14. Equilib um pdce in market is detemined

(a) Supply (b) Demand and supply

6

,7

8

9

t0

t2

13

(c) Demand
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Time : 3 Hours

q+-rL (r) qru z ua1 +lurLa d.
(c) eL ra{t 

"1cL 
nu,t d.

I ufis af-t-0 ararRuar qrf .

i4qqt

+fis a[-r-tl u'{ ttr%ql-

2 -,u,r {ri[\s-{l lutqa [4otL+-rL,r.[.

3au.tl -+tct ,r.rT

Rertt lri .r.qerL-rt1 ticitr rn%1ql.

{qqt
trr[ qi a[.t t't ri,iq rrql

[Max. Marks : 70]

4 a{rqrqre armql.

{qqt

urqrqrg qd.

5 futltr aui. (or{ i c{)

(1) hete

(2) ut+L.ta,Il

(3) flr{,{l.rirrj r4i\
(4) trru'{lrtl{rj ?4i,t
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Philosophy-EC-t (102)

Time : 3 Hours

{qtr (r) .rqt z qal +rsrLr rl.
(r) r,l, {a 1et nrr-t t}.

I -{lhrLraj r<gu rr{.
r{q.{[

2 qsLl&r-ri u,ire..rd.

4rrqt

r.ro1.r ,r,l Htt,[ I.rmql.

3 'ltiu [\ei{j tctq qqT

)Jilr1t

at.[{e1i ic;u ttrnel.

4 qth q,l uur- ri6iq qql.

r,{rrqt

rtt-tL Rlqq nrcial qrrl.

5 ir{ltL qu'r. ("r,i ,:i .{)

(l) a,{,,r.i x,r

(2) .{tldltla {i urq9lra
(3) d: u.i sr%

(4) t{sl{ rylreLLag [iralrr

[Max. Marks : 70]

-{l[dlLa u.l .rtlhstrttl ii6irr ut qI.

1X

1'



B.A. Semester - I
December - 2016

Elective -2 Philosophy
Inductive and Deductive Logic Total \Iarks:70'I inrc: lt [Io"rs

Insfuction : All question carry equal marks
All question are compulsory.

I Explain the tnes of simple proposition.

OR

Explain the types ofgeneral proposition.

Discuss the method of truth table.

OR

Discuss the nature deductive method.

Explain the rule of MP,MT.

OR

Explain the rule ofSimp. Add.

Explain the t}?es of Inductior.

OR

Descdbe Scientifi c Induction.

.Gi!e the detail about function of language sic work.

OR

Give the meaning offallacy and describe its classification

)

J



Time : 3 Hours

B.A. Sem.-I Sear No. ; _
Dec.20l6

Computer Applications (EC-2)

[Max. Marks:70]

30

30

{.r.u (r) qtrt s lal iro,rL,t d
(r) sU rra get t'tLt d.

1 uLter tsi-u z.not r,u'il. (siu ,reL 6{)

(l) 31Bz?-u ldRq a{crl Rri zcuql.

(2) 3ltzr.it tcrold ?q{ ldri zcud.

(3) siujaa-u [a[aq input 1.i output:utr-r] qi.i elsu o\lttrr [qei r,].rcl.

(4) Cache memory r,{-t CPU :rt) ,l-tt 'ts..t dcl t"erqi.

(5) ttte*is-{l 6'{,ti"ft.rt s,$Lqj.

(6) OCR q'i OMR -il 6,{,i"tl %rud.

(7) Operating system-{t 3i,az1\r} r,totarat zquql.

(8) rljzr rL) hard disks qi optical discs { ti{rtrt r} ,l z'*rql {rtl ,Uu qd-i

caqa n grtql .

(9) RRq {3n tL so{iware Rr'L zqtql. eL trltl ,u) ,ic,{ Gasrer qtd.

(10) Touch Screen htl ffl 'tltr ci.ti.

(l l) E-mail service rt) 1r tltr aul.

2 (A) uL'lcn lai.u s.tLnL r,uui. (au qer 
'{iq)

(l) s)'jer-u 6e<,t+ Rrj terq'i "r{ i-il RtEq ,IA Rri zerqi.

(2) rl'3ar u) ri arj I .Le.c r) i zqLLd.

(3) attq,r qrql. Primary Memory Rtta Secondary Memory

(4) hl4tr number system uti ,l-u r,t1iq 6ae?er {tt.
(5) Web Browser Rtl tIq cwi.

(6) Bluetooth technology u-I i.tt +qaotl h zpLtql.

(B) i,u,lcu rt.d-tt zqLq r,ttqi.. (slu,{eL.lr)

(l) {4t%-tt +tt{.ti E-mail -tt r'tcterat hpl zqtq).

(2) Could Computing R{ titr cr"rI.

(3) online web content search Rt tltr et" .
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Computer Applications (EC-2)

Time : 3 Hours [Max. Marks : 70]

l. Answer the following ( any ten) 30

l. Discussvariouscharacteristicsofcomputcrs.

2. Explain basic organization ofa computer system.

3. List various input and output devices for a computet explain i1s importance

for computer user.

4. Explain cache memory and its importance for CP[J.

5, What ar€ the applications ofBar Code readers?

6. Explain advantages ofOCR and OMR.

7. Explain role ofoperating system for PC.

E. Discuss role of hard disks and optical discs for PC, also differentiate the sane.

9. List various categories ofsoftware. Give appropriate examples for each category.

10. Write a short note on:1buch Sqeen.

I 1. Write a short nolc on : E- mail service

2. Answer the following (any five ) 30

l. Write a shorl note oo eyaluation ofcomputel explain various generation ofcomputers,

2. What is the role ofProccssor in computcr ?

3. Differentiate : Primary memory v/s Secondary memr,.ry.

4. Discuss various number system with its appropriate exzrnple.

5. Write short note on : Web Browser.

6. Expatin Bluetooth technologr with its advantages.

3. Aaswer the following (any one ) lO

l. Explain importance ofE- lnail in today's work.

2. Write a short note on : Cloud Computing.

3. rJy'rite a short note on : online web content search.

Seat No
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L (t) els latr let n,.LLt d.
(r) ot,rL u q&1 s1@{rd r}.
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eerH t}.
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A)

B)
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,{tt.{t
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uelqi
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A)

B)

4 ILL{[L q]".r.LL tadL { ? uL{tlt qi".raLtL,rzs'L hei h\aLe.?.{I {qc(ql.

rdqqt

r,ud\l3qt tt{R: a't tt s+tlB rlqrap +'Lsr.{l, rLr{Rs qlo+ar.fl encLq,{l

eu {a $1ri a ir,!tl.rl.
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